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Preface

TO THE STUDENT

Economics affects all our lives. As consumers we try to make
the best of our limited incomes. As workers — or future
workers! — we take our place in the job market. As citizens
of a country our lives are affected by the decisions of our
government: decisions over taxes, decisions over spending
on health and education, decisions on interest rates, deci-
sions that affect unemployment, inflation and growth. As
dwellers on the planet Earth we are affected by the economic
decisions of each other: the air we breathe, the water we
drink and the environment we leave to our children are all
affected by the economic decisions taken by the human race.

Economics thus deals with some of the most challenging
issues we face. It is this that still excites me about eco-
nomics after many years of teaching the subject. I hope
that some of this excitement rubs off on you.

The first five editions of Economics have been widely used
in Britain and throughout the world. Like them, this new
edition is suitable for all students of economics at first-year
degree level, A level or on various professional courses where
a broad grounding in both principles and applications is
required. It is structured to be easily understood by those of
you who are new to the subject, with various sections and
boxes that can be left out on first reading or on shorter
courses; yet it also has sufficient depth to challenge those
of you who have studied the subject before, with starred
sections (*) and case studies that will provide much that is
new. There are also optional short mathematical sections
for those of you studying a more rigorous course.

The book gives a self-contained introduction to the
world of economics and is thus ideal for those who will not
study the subject beyond introductory level. But by care-
fully laying a comprehensive foundation and by the inclu-
sion of certain materials in starred sections that bridge the
gap between introductory and second-level economics, it
provides the necessary coverage for those of you going on
to specialise in economics.

The book is designed with one overriding aim: to make
this exciting and highly relevant subject as clear to under-
stand as possible. To this end the book has a number of
important features (see also the Guided Tour):

e Full and consistent use of colour to guide you through
the text and make the structure easy to follow.

e A direct and straightforward written style; short para-
graphs to aid rapid comprehension.

e Key ideas highlighted and explained where they first
appear. These ideas are key elements in the economist’s
‘toolkit’ and whenever they recur later in the book, an
icon appears in the margin and you are referred back to
the page where they are defined and explained.

e Fifteen ‘threshold concepts’ (a new feature for this edi-
tion). Each one is explained in a separate panel. Grasping
these fundamental concepts that recur throughout the
subject will help you to ‘think like an economist’. Like
the key ideas, an icon is used to refer to them whenever
they occur.

e Full-page chapter introductions that raise the key issues
of the chapter and also give a map to help you ‘navigate’
through the contents of the various sections.

e Numerous examples given from around the world: some
serious, some lighthearted.

e Summaries at the end of each section (rather than each
chapter).

e Definitions of all key terms at the bottom of the page.

e A comprehensive index, including reference to all defined
terms.

e Questions throughout the text (typically one or two per
page) to test comprehension and stimulate thought while
you are learning. Answers to all these questions are given
on the book’s website at www.pearsoned.co.uk/sloman.

e Questions at the end of each chapter for either indi-
vidual or class use.

e Many boxes (around seven per chapter) providing case
studies, institutional material, news items, contempo-
rary and historical debates and issues, anecdotes and
advanced topics.

e Advanced material in starred sections/boxes, which can
be omitted without affecting the flow of argument.

e Many additional case studies, which are listed at the
end of each chapter, can be accessed on the book’s
website.

e Many issues are examined in their historical as well as
contemporary context.

e ‘Looking at the maths’ sections. These optional sections
are designed for students on more rigorous courses that
make use of mathematics. These sections express things
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mathematically that have just been covered in words
and/or graphically. Most of them link to Maths Cases on
the book’s website. These cases give worked mathemat-
ical examples and also include one or more numerical
questions for you to work through, either at home or in
class.

e Website references. Extensive web references are given at
the end of each chapter. These refer you to the websites
listed at the end of the book in Appendix 2. These can all
be accessed directly from the ‘hotlinks’ section of the
book’s website at www.pearsoned.co.uk/sloman.

All these features are designed to make your studies more
interesting and to help you learn in a deeper and more
active way.

The book looks at the world of the early 21st century.
Despite huge advances in technology and despite the com-
fortable lives led by many people in the industrialised
world, we still suffer from unemployment, poverty and
inequality, and in many countries (the UK included) the
gap between rich and poor has grown much wider; our
environment is polluted; our economy still goes through
periodic recessions; conflict and disagreement often domin-
ate over peace and harmony.

What is more, the world order has been changing. With
repeated bouts of turmoil on international financial mar-
kets; with a growing interdependence of the economies
of the world; with an inexorable process of ‘globalisation’,

which links us all through a web of telecommunications
and international trade into a world of Coca-Cola, Nike
trainers, Microsoft, football and American chat shows; with
Japan, once seen as the most dynamic of all industrialised
countries, struggling to emerge from a paralysing recession;
with Chinese economic growth increasingly becoming the
powerhouse of the global economy; with fears that eco-
nomic problems in one country will spread like a conta-
gion, not only to its direct neighbours, but possibly around
the world; with the move away from the ideological sim-
plicity of a ‘free-market’ solution to all economic problems;
with a powerful but economically sluggish ‘eurozone’ and a
rapidly evolving European Union with ten new members
and soon three more; with an uncertain future for the USA
with its ever-growing level of debt; and with an ever deep-
ening crisis for many developing countries; so there are
many new economic challenges that face us. Economists
are called on to offer solutions.

But despite our changing environment, there are certain
economic fundamentals that do not change. Despite dis-
agreements among economists — and there are plenty — there
is a wide measure of agreement on how to analyse these
fundamentals.

I hope that this book will give you an enjoyable intro-
duction to the economist’s world and that it will equip you
with the tools to understand and criticise the economic
policies that others pursue.

Good luck and have fun.

TO TUTORS

This new edition retains many of the popular features of
the previous edition (see also the Guided Tour):

e A style that is direct and to the point, with the aim all
the time to provide maximum clarity. There are numer-
ous examples to aid comprehension.

e All key terms highlighted in the text where they first
appear and defined at the foot of that page. Each term is
also highlighted in the index, so that the student can
simply look up a given definition as required. By defin-
ing them on the page where they appear, the student
can also see the terms used in context in the text.

e Key ideas highlighted and explained when they first
appear. There are 36 of these ideas, which are fundamental
to the study of economics. Students can see them recurring
throughout the book, and an icon appears in the margin
to refer back to the page where the idea first appears.

e (New to this edition) Fifteen ‘threshold concepts’. Under-
standing and being able to relate and apply these core
economic concepts helps students to ‘think like an
economist’ and to relate the different parts of the subject
to each other.

e A wealth of applied material in boxes (167 in all), making
learning more interesting for students and, by relating
economics to the real world, bringing the subject alive. The
boxes allow the book to be comprehensive without the
text becoming daunting. Many of the boxes can be used as
class exercises and virtually all have questions at the end.

e Full-page chapter introductions. These set the scene for
the chapter by introducing the students to the topics
covered and relating them to the everyday world. The
introductions also include a ‘chapter map’. This provides
a detailed contents listing, helping students to see how
the chapter is structured and how the various topics
relate to each other.

e A consistent use of colour in graphs and diagrams that
makes them easier to comprehend and more appealing.

e Starred sections and boxes for more advanced mater-
ial. These can be omitted without interrupting the flow
of the argument. This allows the book to be used by
students with different abilities and experience, and on
courses of different levels of difficulty.

e (New to this edition) ‘Looking at the maths’ sections.
These short sections express a topic mathematically.



Some use calculus; some do not. They are designed to be
used on more rigorous courses and go further than other
textbooks at introductory level in meeting the needs of
students on such courses. Most refer students to worked
examples in Maths Cases on the book’s website. Some
of these use simultaneous equations; some use simple
unconstrained optimisation techniques; others use
constrained optimisation, using both substitution and
Lagrange multipliers. The ‘Looking at the maths’ sec-
tions are short and can be omitted by students on non-
mathematical courses without any loss of continuity.

e An open learning approach, with questions incorpor-
ated into the text so as to test and reinforce students’
understanding as they progress. This makes learning a
much more active process.

¢ End-of-chapter questions. These can be set as work for
students to do in class or at home. Alternatively, students
can simply use them to check their comprehension at
the end of a topic.

e Summaries given at the end of each section, thus provid-
ing a point for reflection and checking on comprehension
at reasonably frequent intervals.

e An even micro/macro split.

e The book is divided into six parts. This makes the struc-
ture more transparent and makes it easier for the student
to navigate.

Despite retaining these popular features, there have been
many changes to this sixth edition.

Extensive revision

Economics (sixth edition) uses a lot of applied material,
both to illustrate theory and policy, and to bring the sub-
ject alive for students by relating it to contemporary issues.
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This has meant that, as with the previous edition, much of
the book has had to be rewritten to reflect contemporary
issues. Specifically this means that:

e Many of the boxes are new or extensively revised.

e There are many new examples given in the text.

e All policy sections reflect the changes that have taken
place in the last three years. For example, changes in
competition policy, monetary policy and environmental
policy are fully discussed.

e There is extended coverage of various aspects of glob-
alisation, including strategic alliances in business, the
growth in the US trade deficit, the rapid economic
growth in China, attempts to reduce developing-country
debt, the ratification of the Kyoto Treaty, the advent of
emissions trading and the volatility of world financial
markets.

e All tables and charts have been updated, as have factual
references in the text.

e Theoretical coverage has been strengthened at various
points of the books. For example, there is an expanded
section on oligopoly and game theory, which now
includes discussion of the Cournot and Bertrand models.
The sections on monetary and fiscal policies, in both the
closed and open economy contexts, have been tightened.
The sections on the Romer/Taylor model have been
sharpened and extended (in Box 20.2) to distinguish
different types of inflation. Also the sections on infla-
tion targeting have been expanded.

Most importantly, every single section and every single
sentence of the book has been carefully considered, and if
necessary redrafted, to ensure both maximum clarity and
contemporary relevance. The result, I hope, is a text that
your students will find exciting and relevant to today’s
world.

SUGGESTIONS FOR SHORTER OR LESS ADVANCED COURSES

The book is designed to be used on a number of different
types of course. Because of its comprehensive nature,
the inclusion of a lot of optional material and the self-
contained nature of many of the chapters and sections, it
can be used very flexibly.

It is suitable for one-year principles courses at first-year
degree level, two-year economics courses on non-economics
degrees, A level, HND and professional courses. It is also
highly suitable for single-semester courses, either with a
micro or a macro focus, or giving a broad outline of the
subject.

The following shows which chapters are appropriate to
which types of course.

Alternative 1: Less advanced but
comprehensive courses

Omit all starred sections, starred sub-sections and starred
boxes.

Alternative 2: Business studies courses

Chapters 1-3, 5-9, 12-14, 17, 19, 22-35.

Alternative 3: Introduction to
microeconomics

Chapters 1-12, 23. The level of difficulty can be varied by
including or omitting starred sections and boxes from
these chapters.
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Alternative 4: Introduction to
macroeconomics

Chapters 1, 2, 13-25. The level of difficulty can be varied by
including or omitting starred sections and boxes from these
chapters.

Alternative b: Outline courses

Chapters 1, 2, 5, 6, 13, 14, 16, 17, 23, 24 (section 24.1).
Omit boxes at will.

Alternative 6: Courses with a theory bias

Chapters 1, 2, 4-9, 11, 13-18, 20, 21, 23, 24. The level of
difficulty can be varied by including or omitting starred
sections and boxes from these chapters.

Alternative 7: Courses with a policy bias
(and only basic theory)

Chapters 1-3, 5, 6, 10-14, (16), 19, 22-5.

COMPANION BOOKS AND MATERIALS

Student Workbook, 6th Edition (by John
Sloman and Peter Smith)

A new edition of the Student Workbook has been
designed to accompany this text. Each chapter of the work-
book matches a chapter of Economics and consists of four
sections.

A. Review questions. This section is a mixture of narrative
and questions and goes through all the key material in the
textbook chapter. Questions are a mixture of multiple
choice, true/false, either/or, filling in blank words or
phrases, matching a series of answers to a series of ques-
tions, short written answers and brief calculations. Each
type of question is clearly marked with an appropriate
symbol.

B. Problems, exercises and projects. This section includes
multiple-part calculations and exercises, and student
projects (including data search exercises, games, role
playing and questionnaires).

C. Discussion topics and essays. This includes various
thought-provoking questions that can be used for class
discussion and more traditional essay questions.

D. Answers and comments. This includes answers to and
comments on all questions in section A of each chapter
(answers to section B questions are given on the CD and
in the Tutor’s section of the website).

MyEconLab

MyEconLab is a new set of online resources developed for
the sixth edition of Economics. Access is provided with every
new purchase of this text. MyEconLab provides a variety
of tools to enable students to assess their own learning. A
personalised Study Plan identifies areas to concentrate on
to improve grades, and specific tools are provided to each
student to direct their studies in the most efficient way.
See Guided Tour (pages xx—xxvi) for more details.

Website

Visit the Economics companion website at
www.pearsoned.co.uk/sloman

to find an extensive range of valuable teaching and learn-
ing material including:

For students:

e Study material designed to help you improve your results.

e Learning Objectives for each chapter written in ‘student-
friendly’ language.

e Topical Economic Issues, with analysis and links to key
concepts.

e Over 170 case studies with questions for self study. These
are ordered chapter by chapter and are referred to in
the text.

e Maths cases with exercises, related to the ‘Looking at the
Maths’ sections in the book.

e 20 self-test questions per chapter.

e Updated list of 200 hotlinks to sites of use for economics.

e Answers to all in-chapter questions.

e Economics news articles. These are updated monthly. As
well as hyperlinks to some 20 articles per month, there is
an introduction to each article and questions at the end.

For lecturers:

e A secure, password-protected site with material designed
to help you teach.

e Customisable lecture plans in PowerPoint®, including
diagrams.

e Key models animated as full-colour PowerPoint® slide
shows.

¢ Downloadable PowerPoint® slides of all figures and most
tables from the book.

e A range of teaching and learning case studies, with the
focus on improving student learning outcomes.



e Tutor guide to using chapters and discussion of teaching/
learning issues.

¢ Answers to end-of-chapter questions (password protected).

e Testbank with over 2000 questions to help you prepare
tests and exams (password protected).

e Workshops, with answers (password protected).

e Answers to the Case Studies and Maths Cases found on the
Student Companion Website (password protected).

This site is regularly updated.

CD-ROM (new edition)

The CD produced for tutors using the 5th edition of Eco-
nomics has proved very popular. The CD has been updated,
revised and extended for the 6th edition. It is available free
of charge from Pearson Education to tutors using the book
as a course text. The CD contains the following:

¢ PowerPoint® slide shows in full colour for use with a data
projector in lectures and classes. These can also be made
available to students by loading them on to a local net-
work. All PowerPoint® files are available in light on dark
background, and dark on light background versions. The

CD contains several types of these slide shows:

— All figures from the book and most of the tables. Each
figure is built up in a logical sequence, thereby allowing
tutors to show them in lectures in an animated form.

— Arange of models. There are 39 files, each containing
one of the key models from the book, developed in an
animated sequence of between 20 and 80 screens.

— Lecture plans. These are a series of bullet-point lecture
plans. There is one for each chapter of the book. Each
one can be easily edited, with points added, deleted or
moved, so as to suit particular lectures. A consistent use
of colour is made to show how the points tie together.

— Lecture plans with integrated diagrams. These lecture
plans include animated diagrams and charts at the
appropriate points.
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e PowerPoint® slides for printing on to acetate for use with
a conventional OHP. These are reverse image slides (i.e.
dark lines on a clear background) designed to minimise
printer ink. They can be printed in colour, or in black
and white (and grey). These slides contain the figures,
tables and lecture plans referred to above.

e Tutor’s Guide in Word®. This contains the following
features:

— Answers to all questions in Economics (6th edition):
i.e. questions embedded in the text, box questions
and end-of-chapter questions. These can be edited as
desired and distributed to students.

— Suggestions on how to use the text.

- Learning objectives that can be used for syllabus
design and course planning.

e Multiple-choice questions. This test bank is completely
redesigned and contains many new questions. It is more
flexible and easier to use.

e Case studies. These, also available on the book’s website,
can be reproduced and used for classroom exercises or
for student assignments. Answers are also provided.

e Workshops. There are 18 of these (9 micro and 9 macro/
international). They are in Word® and can be reproduced
for use with large groups of students (up to 200). Sugges-
tions for use are given on the CD. Answers to all workshop
questions are given in separate Word® files.

WinEcon (Sloman version)

The widely acclaimed WinEcon software, produced and
authored by the Economics Consortium of the Teaching
and Learning Technology Programme (TLTP) and designed
to support courses in introductory economics, is now avail-
able on CD in a version specially designed for Economics
(6th edition). There is a separate chapter in the Sloman
version of WinEcon to correspond with the relevant chapter
in the book. The software is highly interactive and is attrac-
tive to use.
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Guided Tour

NAVIGATION AND SETTING THE SCENE

The book is divided into six parts, each with a full page
introduction and part map to help you navigate around
the book.

— Full page chapter openers provide an overview of the
topics to be covered in each chapter, and a map of all
chapter sections and sub-sections. These overviews,
as well as full learning objectives per chapter, can be
found on the Student Companion Website at B

www.pearsoned.co.uk/sloman. Frot Masiiog drPcoc Competian and ioropely

Markets, Efficiency and the Public Interest

Applied Microeconomics

14

Macroeconomic Issues and
Analysis: an Overview

Inthe we examined In this chapt the
other threo key macroeconomic issues of unemployment, inflation and the balance of
payments. We give an overview of these problems: how they are measured and their
effects on society. the causes This helps
prepare the ground for the analysis of later chapters.

We saw in Chapter 13 that macrosconomics deals with economic problems in the
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Part D has been laying the foundations of macroeconomics. The final section of this.
chapter brings the threads together. It examines the relationship between the four
macrosconomic objectives in both the short run and the long run: something that will
be explored in more detail in Part E
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PRACTISING AND TESTING YOUR LEARNING

Questions throughout the text enable you to test

your understanding of what you have just read.
Answers appear on the Student Companion Website at
www.pearsoned.co.uk/sloman.
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End of chapter questions can be

used for self-testing or in class. For each chapter there are 20 Multiple Choice Questions on the

Student Companion Website at www.pearsoned.co.uk/sloman,
giving you the chance to check what you have learnt and get
instant feedback.
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Take the Chapter Tests in MyEconLab to generate a personalised Study Plan.
You will then be directed to specific resources in MyEconLab to help you focus
your studies and improve your grades. For details on how to access MyEconLab,
see the access card that is packaged with every new copy of this book.
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A printed Workbook is available for purchase (from www.pearson-books.com,
ISBN 027370517 2), which contains over 1500 questions of various types, carefully
matched to the content of the main text.
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Although all counties face economic problems, they nevertheless tackle them in different
ways. In some countries the government plays a major role in economic decision making. In
others decisions are left much more to individuals. Section 1.2 examines how these different
types of economy operate.
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AIDING YOUR UNDERSTANDING

4.2 DEMAND UNDER CONDITIONS OF AISK AND UNCERTAINTY 101

PEOPLE'S ACTIONS DEPEND ON THEIR EXPECTATIONS

subject.

/

The Key Ideas in an economist’s toolkit are highlighted and

explained where they first appear. Again, an icon appearsin — — |

the margin whenever they recur later in the book.

i

Threshold Concept boxes cover the fundamental concepts that

you need to grasp in order to think like an economist. An icon

appears in the margin when these concepts are referred to later
in the text, and highlights the links between different parts of the

Section Summaries allow you to recap on your learning at
frequent intervals and provide an important revision tool.

5 BACKGROUND T0 SUPPLY

Section summary

g costs of production

All key terms are highlighted where
they first appear in the text, and
definitions are provided in boxes
nearby. The full glossary also appears
at the back of the book and on the
Student Companion Website at
www.pearsoned.co.uk/sloman.

Your personalised MyEconLab Study Plan shows
you how well you are doing, and areas you need to
concentrate on to improve. Extra resources such as
animated graphs are provided to further explain the
topics you need to focus on to improve your grades.
For details on how to access MyEconLab, see the
access card that is packaged with every new copy of
this book.
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APPLYING ECONOMICS TO THE REAL WORLD

16.1 BACKGAOUND TO THE THEORY 457
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Additional Case Studies relevant for
each chapter can be found on the

Case Studies and Applications boxes include examples, data
and scenarios from the real world to show you why this subject
really matters in everyday life.

Case 1.1
Buddhist Economics
A different perspective
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Student Companion Website at
www.pearsoned.co.uk/sloman.
These cases are listed at the end of
each chapter.
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Topical Economic Issues on the Student Companion Website at
www.pearsoned.co.uk/sloman provide discussion of some of the
key economic issues over the past six months related to passages
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Part A: Introduction

1 Introducing Economics 3

In this opening part of the book you will get a glimpse of what the subject of economics
is all about. One thing to be stressed right from the outset: economics is not just a set of
facts or theories to be memorised. Studying economics gives you a way of thinking
about the world. It helps you to make sense of the decisions people are making all the
time: decisions we make about what to buy or what job to do; decisions our government
makes about how much to tax us or what to spend those taxes on.

Economics contains some core ideas. These ideas are simple, but can be applied to a
wide range of economic problems. We start examining these ideas in Chapter 1.






Introducing Economics

You may never have studied economics before, and yet when you open a newspaper
what do you read? - a report from ‘our economics correspondent’. Turn on the tele-
vision news and what do you see? — an item on the state of the economy. Talk to friends
and often the topic will turn to the price of this or that product, or whether you have got
enough money to afford to do this or that.

The fact is that economics affects our daily lives. Continually we are being made
aware of local, national and international economic issues: whether it be price increases,
interest rate changes, fluctuations in exchange rates, unemployment, economic reces-
sions or the effects of globalisation.

We are also continually faced with economic problems and decisions of our own.
What should | buy in the supermarket? Should | save up for a summer holiday, or spend
more on day-to-day living? Should | go to university, or should | try to find a job now?

So just what is economics about? In this chapter we will attempt to answer this
question and give you some insights into the subject that you will be studying by using
this book. We will see how the subject is divided up, and in particular we will distinguish
between the two major branches of economics: microeconomics and macroeconomics.

We will also look at the ways in which different types of economy operate: from the
centrally planned economies of the former communist countries, to the free-market
economies of most of the world today. We will ask just how do ‘markets” work?

CHAPTER MAP

1.1 What do economists study? 4 The command economy 17
The problem of scarcity 4 Assessment of the command economy 19
Demand and supply 5 The free-market economy 20
Dividing up the subject 5 Assessment of the free-market economy 23
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1.1 WHAT DO ECONOMISTS STUDY?

Many people think that economics is about money. Well, to
some extent this is true. Economics has a lot to do with
money: with how much money people are paid; how much
they spend; what it costs to buy various items; how much
money firms earn; how much money there is in total in the
economy. But despite the large number of areas in which
our lives are concerned with money, economics is more
than just the study of money.
It is concerned with the following:

e The production of goods and services: how much the
economy produces, both in total and of individual
items; how much each firm or person produces; what
techniques of production are used; how many people are
employed.

e The consumption of goods and services: how much the
population as a whole spends (and how much it saves);
what the pattern of consumption is in the economy;
how much people buy of particular items; what par-
ticular individuals choose to buy; how people’s consump-
tion is affected by prices, advertising, fashion and other
factors.

? Could production and consumption take place
without money? If you think they could, give some
examples.

But we still have not quite got to the bottom of what
economics is about. What is the crucial ingredient that
makes a problem an economic one? The answer is that
there is one central problem faced by all individuals and
all societies. From this one problem stem all the other
economic problems we shall be looking at throughout this
book.

This central economic problem is the problem of scarcity.
This applies not only in countries like Ethiopia and the
Sudan, but also in the UK, the USA, Japan, France and all
other countries of the world. For an economist, scarcity has
a very specific definition . . .

? Before reading on, how would you define ‘scarcity’?
l Must goods be at least temporarily unattainable to
be scarce?

Definitions

Production The transformation of inputs into outputs
by firms in order to earn profit (or meet some other
objective).

Consumption The act of using goods and services to
satisfy wants. This will normally involve purchasing the
goods and services.

Factors of production (or resources) The inputs into the
production of goods and services: labour, land and raw
materials, and capital.

The problem of scarcity

Ask people if they would like more money, and the vast
majority would answer ‘Yes’. They want more money so
that they can buy more goods and services; and this applies
not only to poor people but also to most wealthy people
too. The point is that human wants are virtually unlimited.
Yet the means of fulfilling human wants are limited. At
any one time the world can only produce a limited amount
of goods and services. This is because the world only has a
limited amount of resources. These resources, or factors of
production as they are often called, are of three broad types:

e Human resources: labour. The labour force is limited
both in number and in skills.

e Natural resources: land and raw materials. The world’s
land area is limited, as are its raw materials.

e Manufactured resources: capital. Capital consists of all
those inputs that have each had to be produced in the
first place. The world has a limited stock of capital: a
limited supply of factories, machines, transportation and
other equipment. The productivity of capital is limited
by the state of technology.

So here is the reason for scarcity: human wants are virtu-
ally unlimited, whereas the resources available to satisfy
these wants are limited. We can thus define scarcity as
follows:

LCB Scarcity is the excess of human wants over what
= can actually be produced. Because of scarcity,
various choices have to be made between
alternatives.

? If we would all like more money, why does the
government not print a lot more? Could it not thereby
solve the problem of scarcity ‘at a stroke’?

Of course, we do not all face the problem of scarcity to
the same degree. A poor person unable to afford enough to
eat or a decent place to live will hardly see it as a ‘problem’
that a rich person cannot afford a second BMW. But

Labour All forms of human input, both physical and
mental, into current production.

Land and raw materials Inputs into production that are
provided by nature: e.g. unimproved land and mineral
deposits in the ground.

Capital All inputs into production that have themselves
been produced: e.g. factories, machines and tools.

Scarcity The excess of human wants over what can actually
be produced to fulfil these wants.
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e Budget news: Chancellor cuts 2p off the basic rate of
income tax; government hopes that this will provide
an incentive for people to work harder.

e Mortgage interest rates reduced: resulting boost to
the housing market expected to lead to higher house
prices.

e Recent survey reveals that business confidence is
low: fall in investment predicted.

e The country continues to bask in a heatwave: record
ice-cream sales reported.

¢ Floods hit Bangladesh: two-thirds of the country’s
crops ruined; massive food price rises expected.

e Consumer spending growing too fast: forecasters
predict that inflation will soon begin to rise.

economists do not claim that we all face an equal problem
of scarcity. In fact this is one of the major issues economists
study: how resources are distributed, whether between dif-
ferent individuals, different regions of a country or different
countries of the world.

But given that people, both rich and poor, want more
than they can have, this makes them behave in certain ways.
Economics studies that behaviour. It studies people at
work, producing the goods that people want. It studies
people as consumers, buying the goods that they themselves
want. It studies governments influencing the level and
pattern of production and consumption. In short, it studies
anything to do with the process of satisfying human wants.

Demand and supply

We said that economics is concerned with consumption
and production. Another way of looking at this is in terms
of demand and supply. In fact, demand and supply and the
relationship between them lie at the very centre of eco-
nomics. But what do we mean by the terms, and what is
their relationship with the problem of scarcity?

Demand is related to wants. If goods and services were
free, people would simply demand whatever they wanted.
Such wants are virtually boundless: perhaps only limited by
people’s imagination. Supply, on the other hand, is limited.
It is related to resources. The amount that firms can supply
depends on the resources and technology available.

Given the problem of scarcity, given that human wants
exceed what can actually be produced, potential demands
will exceed potential supplies. Society therefore has to find
some way of dealing with this problem. Somehow it has got
to try to match demand with supply. This applies at the
level of the economy overall: aggregate demand will need to
be balanced against aggregate supply. In other words, total
spending in the economy should balance total production.

1.1 WHAT DO ECONOMISTS STUDY? 5

CASE STUDIES AND APPLICATIONS BOX 1.1
===

WHAT’'S THE LATEST ECONOMICS NEWS?

¢ Increased expenditure on education announced:
government claims that this will help the economy
to become more competitive and unemployment to
fall. Opposition claims that it will lead to rising prices
and to higher unemployment.

e Record balance of trade deficit announced today:
further rises in interest rates seem inevitable.

e Rumours of a takeover bid for ABC plc: ABC shares
close 25p up on the day.

e Tuition fees increased: Student Union president says
that this will create real hardship for many students.

What is it that makes each one of the above news
o items an economics item?

It also applies at the level of individual goods and services.
The demand and supply of cabbages should balance, and
so should the demand and supply of DVD recorders, cars,
houses and package holidays.

But if potential demand exceeds potential supply, how
are actual demand and supply to be made equal? Either
demand has to be curtailed, or supply has to be increased,
or a combination of the two. Economics studies this pro-
cess. It studies how demand adjusts to available supplies,
and how supply adjusts to consumer demands.

Dividing up the subject

Economics is traditionally divided into two main branches
— macroeconomics and microeconomics, where ‘macro’ means
big, and ‘micro’ means small.

Macroeconomics is concerned with the economy as a
whole. It is thus concerned with aggregate demand and
aggregate supply. By ‘aggregate demand’ we mean the total
amount of spending in the economy, whether by consumers,
by customers outside the country for our exports, by the
government, or by firms when they buy capital equipment
or stock up on raw materials. By ‘aggregate supply’ we
mean the total national output of goods and services.

Definitions

Macroeconomics The branch of economics that
studies economic aggregates (grand totals): e.g. the
overall level of prices, output and employment in the
economy.

Aggregate demand The total level of spending in the
economy.

Aggregate supply The total amount of output in the
economy.
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Microeconomics is concerned with the individual parts
of the economy. It is concerned with the demand and
supply of particular goods and services and resources: cars,
butter, clothes and haircuts; electricians, secretaries, blast
furnaces, computers and oil.

? Which of the following are macroeconomic issues,
which are microeconomic ones and which could be

either depending on the context?

(a) Inflation.

(b) Low wages in certain service industries.

(c) The rate of exchange between the pound and the
euro.

(d) Why the price of cabbages fluctuates more than
that of cars.

(e) The rate of economic growth this year compared
with last year.

(f) The decline of traditional manufacturing industries.

Macroeconomics

Because things are scarce, societies are concerned that their
resources should be used as fully as possible, and that over
time their national output should grow.

The achievement of growth and the full use of resources
is not easy, however, as demonstrated by the periods of high
unemployment and stagnation that have occurred from
time to time throughout the world (for example, in the 1930s,
the early 1980s, the early 1990s and the early 2000s). Further-
more, attempts by government to stimulate growth and em-
ployment have often resulted in inflation and a large rise in
imports. Even when societies do achieve growth, it can be
short lived. Economies have often experienced cycles, where
periods of growth alternate with periods of stagnation, such
periods varying from a few months to a few years.

Macroeconomic problems are closely related to the bal-
ance between aggregate demand and aggregate supply.

If aggregate demand is too high relative to aggregate
supply, inflation and trade deficits are likely to result.

e Inflation refers to a general rise in the level of prices
throughout the economy. If aggregate demand rises
substantially, firms are likely to respond by raising their

Definitions

Microeconomics The branch of economics that studies
individual units: e.g. households, firms and industries.
It studies the interrelationships between these units in
determining the pattern of production and distribution
of goods and services.

Rate of inflation The percentage increase in the level of
prices over a 12-month period.

Balance of trade Exports of goods and services minus
imports of goods and services. If exports exceed imports,
there is a ‘balance of trade surplus’ (a positive figure). If
imports exceed exports, there is a ‘balance of trade deficit’
(a negative figure).

prices. After all, if demand is high, they can probably
still sell as much as before (if not more) even at the
higher prices, and thus make more profits. If firms in
general put up their prices, inflation results.

e Balance of trade deficits are the excess of imports over
exports. If aggregate demand rises, people are likely to buy
more imports. In other words, part of the extra expendi-
ture will go on Japanese LCD TVs, German cars, French
wine, etc. Also if inflation is high, home-produced goods
will become uncompetitive with foreign goods. We are
likely, therefore, to buy more foreign imports and people
abroad are likely to buy fewer of our exports.

If aggregate demand is too low relative to aggregate supply,
unemployment and recession may well result.

® Recession is where output in the economy declines: in
other words, growth becomes negative. A recession is
associated with a low level of consumer spending. If
people spend less, shops are likely to find themselves
with unsold stock. As a result they will buy less from
the manufacturers, which in turn will cut down on
production.

e Unemployment is likely to result from cutbacks in pro-
duction. If firms are producing less, they will need to
employ fewer people.

Macroeconomic policy, therefore, tends to focus on the
balance of aggregate demand and aggregate supply. It can
be demand-side policy, which seeks to influence the level
of spending in the economy. This in turn will affect the
level of production, prices and employment. Or it can be
supply-side policy. This is designed to influence the level of
production directly: for example, by trying to create more
incentives for firms to innovate.

Microeconomics

Microeconomics and choice

Because resources are scarce, choices have to be made.
There are three main categories of choice that must be
made in any society.

Recession A period where national output falls for six
months or more.

Unemployment The number of people who are actively
looking for work but are currently without a job. (Note that
there is much debate as to who should officially be counted
as unemployed.)

Demand-side policy Government policy designed to alter
the level of aggregate demand, and thereby the level of
output, employment and prices.

Supply-side policy Government policy that attempts to
alter the level of aggregate supply directly.
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- CASE STUDIES AND APPLICATIONS BOX 1.2

LOOKING AT MACROECONOMIC DATA

Assessing different countries’ macroeconomic performance

Rapid economic growth, low unemployment, low
inflation and the avoidance of current account deficits’
are major macroeconomic policy objectives of most
governments round the world. To help them achieve
these objectives they employ economic advisers. But

when we look at the performance of various

economies, the success of government
macroeconomic policies seems decidedly ‘mixed’.

The table shows data for the USA, Japan, Germany?
and the UK from 1961-2005.

Macroeconomic performance of four industrialised economies (average annual figures)

Unemployment Inflation
(% of workforce) (%)

Economic growth Balance on current account

(%) (% of national income)

USA Japan Germany UK USA Japan

Germany UK USA Japan

Germany UK USA Japan Germany UK

1961-70 4.8 ii=s 0.6 1.7 24 5.6 287
1971-80 6.4 1.8 2.2 38 7.0 8.8 5.1
1981-90 245 245 6.0 9.6 45 2.2 225)
1990-2000 3.3 3.3 78 79 22 0.4 2.3
2000-05 5.0 5.0 9.2 5.0 2.1 =1.3 1:3

3.9 4.2 10.1 4.4 3.0 05 0.6 0.7 0.2
13.2 3.2 4.4 2.8 20 09 0.5 1.1 -0.7
6.2 3.2 S8 2.3 26 -1.7 2.3 2.6 -1.4
33 33 {i25) 1.9 24 -16 25 -0.7 =14
19 26 1.7 0.8 25 -4.8 229 2.8 =18

Source: European Economy Statistical Annex, various tables (European Commission).

? 1. Has the UK generally fared better or worse
than the other three countries?
2. Was there a common pattern in the
macroeconomic performance of each of
the four countries over these 45 years?

If the government does not have much success in
managing the economy, it could be for the following
reasons:

e Economists have incorrectly analysed the problems
and hence have given the wrong advice.

e Economists disagree and hence have given
conflicting advice.

What goods and services are going to be produced and in
what quantities, since there are not enough resources
to produce all the things people desire? How many cars,
how much wheat, how much insurance, how many rock
concerts, how many coats, etc. will be produced?

How are things going to be produced, given that there
is normally more than one way of producing things?
What resources are going to be used and in what quan-
tities? What techniques of production are going to be
adopted? Will cars be produced by robots or by assembly
line workers? Will electricity be produced from coal, oil,
gas, nuclear fission, renewable resources or a mixture of
these?

For whom are things going to be produced? In other
words, how will the nation’s income be distributed?
After all, the higher your income, the more you can con-
sume of the nation’s output. What will be the wages of
farm workers, printers, cleaners and accountants? How

e Economists have based their advice on inaccurate
forecasts.

e Governments have not heeded the advice of
economists.

e There is little else that governments could have
done: the problems were insoluble.

" The current account balance is the trade balance plus any incomes
earned from abroad minus any incomes paid abroad. These incomes
could be wages, investment incomes or government revenues (see
section 14.4 for details).

2 West Germany from 1961 to 1991.

much will pensioners receive? How much of the nation’s
income will go to shareholders or landowners?

All societies have to make these choices, whether they
be made by individuals, groups or the government. These
choices can be seen as microeconomic choices, since they
are concerned not with the fofal amount of national out-
put, but with the individual goods and services that make it
up: what they are, how they are made, and who gets the
incomes to buy them.

Choice and opportunity cost

Choice involves sacrifice. The more food you choose to
buy, the less money you will have to spend on other goods.
The more food a nation produces, the fewer resources
will there be for producing other goods. In other words, the
production or consumption of one thing involves the
sacrifice of alternatives. This sacrifice of alternatives in
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S

Scarcity, as we have seen, is at the heart of economics.

We face scarcity as individuals. Each of us has a limited
income and hence we cannot buy everything we want.
And it's not just a question of what we can afford. Even
the richest person has limited time. There are only
24 hours in a day and we will all die. So even if we had
the money, we would not be able to enjoy every pos-
sible good we would like to consume or take part in
every possible activity.

The same applies to nations. A nation has limited
resources and hence cannot produce everything
people would like. So too with the world. Our planet
has finite resources, and the technology and human
abilities to exploit these resources are also limited.

We thus have to make choices. In fact, virtually every
time we do something, we are making a choice between
alternatives. If you choose to spend your time staying
in and watching television, you are choosing not to go
out. It's the same when you spend money. If you buy a
CD for £10, you are choosing not to spend that £10 on
something else. Likewise, if a nation devotes more of
its resources to producing manufactured goods, there
will be less to devote to the production of services
or agricultural goods. If we devote more resources
to producing a cleaner environment, we may have to
produce less of the material goods that people want to
consume.

What we give up in order to do something is known as
its opportunity cost. Opportunity cost is the cost of
doing something measured in terms of the best alter-
native forgone. It's what you would have chosen to do
with your time or money, if you had not made the
choice you did. This is one of the most fundamental
concepts in economics. It is a threshold concept: once
you have seen its importance, it affects the way you
look at economic problems. When you use the concept

the production (or consumption) of a good is known as its
opportunity cost.

LGB The opportunity cost of any activity is the
& sacrifice made to do it. It is the best thing that
could have been done as an alternative.

If the workers on a farm can produce either 1000 tonnes
of wheat or 2000 tonnes of barley, then the opportunity
cost of producing 1 tonne of wheat is the 2 tonnes of barley
forgone. The opportunity cost of buying a textbook is the
new pair of jeans you also wanted that you have had to go
without. The opportunity cost of working overtime is the
leisure you have sacrificed.

Opportunity cost as the basis for choice is the first of
our ‘Threshold Concepts’ (see panel below). There are 15
of these threshold concepts, which we shall be exploring

THINKING LIKE AN ECONOMIST THRESHOLD CONCEPT 1

CHOICE AND OPPORTUNITY COST

of opportunity cost, you are thinking like an economist.
And this may be different from thinking like an accoun-
tant or from the way you thought before. We will come
across this concept many times throughout this book.

By looking at opportunity cost we are recognising that
we face trade-offs. To do more of one thing involves
doing less of something else. For example, we trade off
work and leisure. The more we work, the less leisure
time we will have. In other words, the opportunity cost
of working is the leisure we have sacrificed. Nations
trade off producing one good against others. The more
a country spends on defence, whether on weapons or
employing military personnel, the less it will have to
spend on consumer goods and services. This has
become known as the ‘guns versus butter’ trade-off. In
other words, if a country decides to use more of its
resources for defence, the opportunity cost is the con-
sumer goods sacrificed. We examine such trade-offs at
a national level on pages 12-14, when we look at the
‘production possibility curve’.

We thus have to make decisions between alternatives.
To make sensible decisions we must weigh up the
benefits of doing something against its opportunity
cost. Understanding this involves Threshold Concept 2
(see page 10).

? 1. Think of three things you did yesterday. What

was the opportunity cost of each one?

2. Assume that a supermarket has some fish that
has reached its sell-by date. It was originally
priced at £10, but yesterday was marked down
to £5 ‘for quick sale’. It is now the end of the day
and it still has not been sold. The supermarket is
about to close and there is no one in the store
who wants fish. What is the opportunity cost for
the store of throwing the fish away?

throughout the book. Once you have grasped these con-
cepts and seen their significance, they will affect the way
that you understand and analyse economic problems. They
will help you to ‘think like an economist’.

Rational choices

Economists often refer to rational choices. This simply means
the weighing-up of the costs and benefits of any activity,
whether it be firms choosing what and how much to

Definitions
Opportunity cost The cost of any activity measured in
terms of the best alternative forgone.

Rational choices Choices that involve weighing up the
benefit of any activity against its opportunity cost.



produce, workers choosing whether to take a particular job
or to work extra hours, or consumers choosing what to buy.

Imagine you are doing your shopping in a supermarket
and you want to buy a bottle of wine. Do you spend a lot of
money and buy a top-quality French wine, or do you buy a
cheap eastern European one instead? To make a rational
(i.e. sensible) decision, you will need to weigh up the costs
and benefits of each alternative. The top-quality wine may
give you a lot of enjoyment, but it has a high opportunity
cost: because it is expensive, you will need to sacrifice quite
a lot of consumption of other goods if you decide to buy it.
If you buy the cheap bottle, however, although you will
not enjoy it so much, you will have more money left over
to buy other things: it has a lower opportunity cost.

Thus rational decision making, as far as consumers are
concerned, involves choosing those items that give you the
best value for money - i.e. the greatest benefit relative to cost.

The same principles apply to firms when deciding what
to produce. For example, should a car firm open up another
production line? A rational decision will again involve
weighing up the benefits and costs. The benefits are the
revenues the firm will earn from selling the extra cars. The
costs will include the extra labour costs, raw material costs,
costs of component parts, etc. It will be profitable to open
up the new production line only if the revenues earned
exceed the costs entailed: in other words, if it adds to profit.

In the more complex situation of deciding which model
of car to produce, or how many of each model, the firm
must weigh up the relative benefits and costs of each —i.e.
it will want to produce the most profitable product mix.

? Assume that you are looking for a job and are offered
two. One is more pleasant to do, but pays less.

How would you make a rational choice between

the two jobs?

Marginal costs and benefits
In economics we argue that rational choices involve weigh-
ing up marginal costs and marginal benefits. These are the
costs and benefits of doing a little bit more or a little bit less
of a specific activity. They can be contrasted with the total
costs and benefits of the activity.

Take a familiar example. What time will you set the
alarm clock to go off tomorrow morning? Let us say that
you have to leave home at 8.30. Perhaps you will set the

Definitions

Marginal costs The additional cost of doing a little bit
more (or 1 unit more if a unit can be measured) of an
activity.

Marginal benefits The additional benefits of doing a little
bit more (or 1 unit more if a unit can be measured) of an
activity.
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alarm for 7.00. That will give you plenty of time to get up
and get ready, but it will mean a relatively short night’s
sleep. Perhaps you will decide to set it for 7.30 or even 8.00.
That will give you a longer night’s sleep, but much more of
arush in the morning to get ready.

So how do you make a rational decision about when the
alarm should go off? What you have to do is to weigh up
the costs and benefits of additional sleep. Each extra minute
in bed gives you more sleep (the marginal benefit), but
gives you more of a rush when you get up (the marginal
cost). The decision is therefore based on the costs and
benefits of extra sleep, not on the fotal costs and benefits of
a whole night’s sleep.

This same principle applies to rational decisions made
by consumers, workers and firms. For example, the car firm
we were considering just now will weigh up the marginal
costs and benefits of producing cars: in other words, it will
compare the costs and revenue of producing additional cars.
If additional cars add more to the firm’s revenue than to its
costs, it will be profitable to produce them.

Rational decision making, then, involves weighing up
the marginal benefit and marginal cost of any activity.
If the marginal benefit exceeds the marginal cost, it is
rational to do the activity (or to do more of it). If the
marginal cost exceeds the marginal benefit, it is rational
not to do it (or to do less of it).

Rational decision making is Threshold Concept 2.

? How would the principle of weighing up marginal costs
and benefits apply to a worker deciding how much
overtime to work in a given week?

Microeconomic objectives

Microeconomics is concerned with the allocation of scarce
resources: with the answering of the what, how and for
whom questions. But how satisfactorily will these questions
be answered? Clearly this depends on society’s objectives.
There are two major objectives that we can identify:
efficiency and equity.

Efficiency.
was produced, we could all be made better off (or at least

If, by altering what was produced or how it

some of us could without anyone losing), then it would
be efficient to do so. For a society to achieve full economic
efficiency, three conditions must be met:

Rational decision making Doing more of an activity if its
marginal benefit exceeds its marginal cost and doing less if
its marginal cost exceeds its marginal benefit.

Economic efficiency A situation where each good is
produced at the minimum cost and where individual
people and firms get the maximum benefit from their
resources.
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Rational decision making involves weighing up the
marginal benefit and marginal cost of any activity. If
the marginal benefit exceeds the marginal cost, it is
rational to do the activity (or to do more of it). If the
marginal cost exceeds the marginal benefit, it is rational
not to do it (or to do less of it).

Let’s take the case of when you go to the supermarket
to do shopping for the week. Assume that you have £30
to spend. Clearly, you will want to spend it wisely. With
each item you consider buying, you should ask your-
self what its marginal benefit is to you: in other words,
how much you would be prepared to spend on it. This
will depend on the prices and benefits of alternatives.
Thus if you were considering spending £2 from the £30
on wholemeal bread, you should ask yourself whether
the £2 would be better spent on some alternative, such
as white bread, rolls or crackers. The best alternative
(which might be a combination of products) is the
marginal opportunity cost. If the answer is that you feel
you are getting better value for money by spending
it on the wholemeal bread, then you are saying that
the marginal benefit exceeds the marginal opportunity
cost. It is an efficient use of your money to buy the
wholemeal bread and forgo the alternatives.

Most decisions are more complex than this, as they
involve buying a whole range of products. In fact, that
is what you are doing in the supermarket. But the prin-
ciple is still the same. In each case, a rational decision
involves weighing up marginal benefits and marginal
costs. Is buying an extra jar of this, or packet of that,
worth the sacrifice of the alternative you could have
purchased with the money?

e Efficiency in production (productive efficiency). This is
where production of each item is at minimum costs.
Producing any other way would cost more.

e Efficiency in consumption. This is where consumers
allocate their expenditures so as to get maximum satis-
faction from their income. Any other pattern of con-
sumption would make people feel worse off.

e Efficiency in specialisation and exchange. This is where
firms specialise in producing goods for sale to consumers,
and where individuals specialise in doing jobs in order
to buy goods, so that everyone maximises the benefits
they achieve relative to the costs of achieving them.

Definitions

Productive efficiency A situation where firms are
producing the maximum output for a given amount of
inputs, or producing a given output at the least cost.

Allocative efficiency A situation where the current
combination of goods produced and sold gives the

THINKING LIKE AN ECONOMIST THRESHOLD CONCEPT 2

RATIONAL DECISION MAKING INVOLVES CHOICES AT THE MARGIN

This is another example of a threshold concept because
it is a way of thinking about economic problems. It is a
general principle that can be applied in a whole host
of contexts: whether it is individuals deciding what
to buy, how much to work, what job to apply for, or
whether to study for a degree or take a job; or firms
deciding how much to produce, whether to invest in
new capacity or new products, or what type of people
to employ and how many; or governments deciding
how much to spend on various projects, such as roads,
hospitals and schools, or what rates of tax to impose
on companies that pollute the environment.

In each case, better decisions will be made by weighing
up marginal costs and marginal benefits.

1. Assume that a firm is selling 1000 units of a
? product at £20 each and that each unit on

average costs £15 to produce. Assume also
that to produce additional units will cost the
firm £19 each and that the price will remain
at £20. To produce additional products will
therefore reduce the average profit per unit.
Should the firm expand production? Explain.

2. Assume that a ferry has capacity for 500
passengers. Its operator predicts that it will
typically have only 200 passengers on each of its
midweek sailings over the winter. Assume also
that each sailing costs the company £10,000.
This means that midweek winter sailings cost
the company an average of £10,000/200= £50
per passenger. Currently tickets cost £60. Should
the company consider selling stand-by tickets
during the winter for (a) less than £60; (b) less
than £50? (Clue: think about the marginal cost
of taking additional passengers.)

These last two are collectively known as allocative effi-
ciency. In any economic activity, allocative efficiency will
be increased as long as doing more of that activity (and
hence less of an alternative) involves a greater marginal
benefit than marginal cost. Full efficiency will be achieved
when all such improvements have been made.

I'f‘ev Economic efficiency is thus achieved when each
ea . a..a
En good is produced at the minimum cost and where

individual people and firms get the maximum
benefit from their resources.

maximum satisfaction for each consumer at their current
levels of income. Note that a redistribution of income
would lead to a different combination of goods that was
allocatively efficient.
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You may not have realised it, but you probably
consider opportunity costs many times a day. The
reason is that we are constantly making choices: what
to buy, what to eat, what to wear, whether to go out,
how much to study, and so on. Each time we make a
choice to do something, we are in effect rejecting doing
some alternative. This alternative forgone is the
opportunity cost of the action we choose.

Sometimes the opportunity costs of our actions are
the direct monetary costs we incur. Sometimes it is
more complicated.

Take the opportunity costs of your choices as a
student of economics.

What are you sacrificing?

Buying a textbook costing £42.99

This does involve a direct money payment. What you
have to consider is the alternatives you could have
bought with the £42.99. You then have to weigh up the
benefit from the best alternative against the benefit of
the textbook.

What might prevent you from making the best
o decision?

Coming to classes

You may or may not be paying your own course fees.
Even if you are, there is no extra (marginal) monetary
cost in coming to classes once the fees have been paid.
You will not get a refund by skipping classes!

So are the opportunity costs zero? No: by coming to
classes you are notworking in the library; you are not
having an extra hour in bed; you are not sitting drinking
coffee with friends, and so on. If you are making a
rational decision to come to classes, then you will
consider such possible alternatives.

Choosing to study at university or college

What are the opportunity costs of being a student in
higher education?

Equity. Even though the current levels of production and
consumption might be efficient, they might be regarded as
unfair, if some people are rich while others are poor. Another
microeconomic goal, therefore, is that of equity. Income
distribution is regarded as equitable if it is considered to be
fair or just. The problem with this objective, however, is that

Definition

Equity A distribution of income that is considered to be
fair or just. Note that an equitable distribution is not the
same as an equal distribution and that different people
have different views on what is equitable.
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- CASE STUDIES AND APPLICATIONS BOX 1.3

THE OPPORTUNITY COSTS OF STUDYING ECONOMICS

? 1. If there are several other things you could have

done, is the opportunity cost the sum of all of
them?

2. What is the opportunity cost of spending an
evening revising for an economics exam?
What would you need to know in order to
make a sensible decision about what to do
that evening?

At first it might seem that the costs would include
the following:

e Tuition fees.

e Books, stationery, etc.

e Accommodation expenses.

e Transport.

e Food, entertainment and other living expenses.

But adding these up does not give the opportunity
cost. The opportunity cost is the sacrifice entailed
by going to university or college ratherthan doing
something else. Let us assume that the alternative
is to take a job that has been offered. The correct
list of opportunity costs of higher education would
include:

e Books, stationery, etc.

e Additional accommodation and transport expenses
over what would have been incurred by taking the
job.

e Wages that would have been earned in the job /ess
any income received as a student.

e The proportion of tuition fees paid by the student.

? 1. Why is the cost of food not included?
2. Make a list of the benefits of higher education.
3. Is the opportunity cost to the individual of
attending higher education different from
the opportunity costs to society as a
whole?

people have different notions of fairness. A rich person will
probably favour a much higher degree of inequality than
will a poor person! Likewise socialist governments will gen-
erally be in favour of a larger redistribution of income from
the rich to the poor than will conservative governments.

LGB Equity is where income is distributed in a way
that is considered to be fair or just. Note that an
equitable distribution is not the same as an equal
distribution and that different people have

different views on what is equitable.

? Would it ever be desirable to have total equality in
. an economy?
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Z1 0N A production possibility curve
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The social implications of choice

In practice, the consequences of the choices that people
make may be neither efficient nor equitable. Firms may use
inefficient techniques or be poorly managed; people often
make wrong decisions about what to buy or what job to
take; governments may be wasteful or inefficient in their
use of tax revenues; there may be considerable inequality
and injustice.

What is more, the effects of people’s choices often spill
over to other people. Take the case of pollution. It might be
profitable for a firm to tip toxic waste into a river. But what
is profitable for the firm will not necessarily be ‘profitable’
for society. Such an action may have serious environmental
consequences.

Throughout the book we will be considering how well
the economy meets various economic and social objectives:
whether micro or macro. We will examine why problems
occur and what can be done about them.

lllustrating economic issues:
the production possibility curve

Economics books and articles frequently contain diagrams.
The reason is that diagrams are very useful for illustrating
economic relationships. Ideas and arguments that might
take a long time to explain in words can often be expressed
clearly and simply in a diagram.

Two of the most common types of diagram used in
economics are graphs and flow diagrams. In this and the
next section we will look at one example of each. These
examples are chosen to illustrate the distinction between
microeconomic and macroeconomic issues.

We start by having a look at a production possibility
curve. This diagram is a graph. Like many diagrams in eco-
nomics it shows a simplified picture of reality — a picture
stripped of all details that are unnecessary to illustrate the
points being made. Of course, there are dangers in this. In
the attempt to make a diagram simple enough to under-

o2 bil Maximum possible combinations of
food and clothing that can be produced

in a given time period

Units of food Units of clothing

(millions) (millions)
8.0 0.0
7.0 2.2
6.0 4.0
5.0 5.0
4.0 5.6
3.0 6.0
2.0 6.4
1.0 6.7
0.0 7.0

stand, we run the risk of oversimplifying. If this is the case,
the diagram may be misleading.

A production possibility curve is shown in Figure 1.1.
The graph is based on the data shown in Table 1.1.

Assume that some imaginary nation devotes all its
resources — land, labour and capital — to producing just two
goods, food and clothing. Various possible combinations
that could be produced over a given period of time (e.g.
a year) are shown in the table. Thus the country, by
devoting all its resources to producing food, could pro-
duce 8 million units of food but no clothing. Alternatively
by producing, say, 7 million units of food it could release
enough resources — land, labour and capital - to produce
2.2 million units of clothing. At the other extreme, it could

Definition

Production possibility curve A curve showing all the
possible combinations of two goods that a country can
produce within a specified time period with all its
resources fully and efficiently employed.
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The central economic problem is scarcity. But are al/
goods and services scarce? Is anything we desire truly
abundant?

First, what do we mean by abundance? In the
economic sense we mean something where supply
exceeds demand at a zero price. In other words, even
if it is free, there is no shortage. What is more, there
must be no opportunity cost in supplying it. For
example, if the government supplies health care
free to the sick, it is still scarce in the economic
sense because there is a cost to the government
(and hence the taxpayer).

Two things that might seem to be abundant are air
and water.

Is lunch ever free?

Air
In one sense air is abundant. There is no shortage of
air to breathe for most people for most of the time.

But if we define air as clean, unpolluted air, then
in some parts of the world it is scarce. In these cases,
resources have to be used to make clean air available.
If there is pollution in cities or near industrial plants, it
will cost money to clean it up. The citizen may not pay
directly — the cleaned-up air may be free to the

produce 7 million units of clothing with no resources at all
being used to produce food.

The information in the table can be transferred to a
graph (Figure 1.1). We measure units of food on one axis
(in this case the vertical axis) and units of clothing on the
other. The curve shows all the combinations of the two
goods that can be produced with all the nation’s resources
fully and efficiently employed. For example, production
could take place at point x, with 6 million units of food
and 4 million units of clothing being produced. Production
cannot take place beyond the curve. For example, produc-
tion is not possible at point w: the nation does not have
enough resources to do this.

Note that there are two simplifying assumptions in this
diagram. First, it is assumed that there are just two types of
good that can be produced. We have to assume this because
we only have two axes on our graph. The other assumption
is that there is only one type of food and one type of cloth-
ing. This is implied by measuring their output in particu-
lar units (e.g. tonnes). If food differed in type, it would be
possible to produce a greater tonnage of food for a given
amount of clothing simply by switching production from
one foodstuff to another.

These two assumptions are obviously enormous simpli-
fications when we consider the modern complex economies
of the real world. But despite this, the diagram still allows
important principles to be illustrated simply.
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CASE STUDIES AND APPLICATIONS BOX 1.4
===

SCARCITY AND ABUNDANCE

‘consumer’ — but the taxpayer or industry (and hence
its customers) will have to pay.

Another example is when extractor fans have to be
installed to freshen up air in buildings.

Even if you live in a non-polluted part of the country,
you may well have spent money moving there to
escape the pollution. Again there is an opportunity
cost to obtain the clean air.

Water

Whether water is abundant depends again on where
you live. It also depends on what the water is used for.

Water for growing crops in a country with plentiful
rain is abundant. In drier countries, resources have to
be spent on irrigation.

Water for drinking is not abundant. Reservoirs have
to be built. The water has to be piped, purified and
pumped.

? 1. There is a saying in economics, ‘There is no
such thing as a free lunch’ (hence the sub-title
for this box). What does this mean?
2. Are any other (desirable) goods or services truly
abundant?

Microeconomics and the production possibility curve TR
A production possibility curve illustrates the microeco-
nomic issues of choice and opportunity cost.
If the country chose to produce more clothing, it would
have to sacrifice the production of some food. This sacrifice JKE2
of food is the opportunity cost of the extra clothing.
The fact that to produce more of one good involves pro-
ducing less of the other is illustrated by the downward-
sloping nature of the curve. For example, the country could
move from point x to point y in Figure 1.2. In doing so it
would be producing an extra 1 million units of clothing,
but 1 million units less of food. Thus the opportunity cost
of the 1 million extra units of clothing would be the 1 mil-
lion units of food forgone.
It also illustrates the phenomenon of increasing oppor-
tunity costs. By this we mean that as a country produces
more of one good it has to sacrifice ever increasing amounts
of the other. The reason for this is that different factors of
production have different properties. People have different
skills; land differs in different parts of the country; raw

Definition

Increasing opportunity costs of production When
additional production of one good involves ever
increasing sacrifices of another.
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IS 0N Increasing opportunity costs
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materials differ one from another; and so on. Thus as the
nation concentrates more and more on the production of
one good, it has to start using resources that are less and
less suitable — resources that would have been better suited
to producing other goods. In our example, then, the pro-
duction of more and more clothing will involve a growing
marginal cost: ever increasing amounts of food have to be
sacrificed for each additional unit of clothing produced.

It is because opportunity costs increase that the produc-
tion possibility curve is bowed outward rather than being a
straight line. Thus in Figure 1.2 as production moves from
point x to y to z, so the amount of food sacrificed rises for
each additional unit of clothing produced. The opportun-
ity cost of the fifth million units of clothing is 1 million
units of food. The opportunity cost of the sixth million
units of clothing is 2 million units of food.

? 1. What is the opportunity cost of the seventh million

units of clothing?

2. Ifthe country moves upward along the curve and
produces more food, does this also involve
increasing opportunity costs?

3. Under what circumstances would the production
possibility curve be (a) a straight line; (b) bowed in
towards the origin? Are these circumstances ever
likely?

Macroeconomics and the production

possibility curve

There is no guarantee that resources will be fully employed,
or that they will be used in the most efficient way possible.
The nation may thus be producing at a point inside the
curve: for example, point v in Figure 1.3.

What we are saying here is that the economy is producing
less of both goods than it could possibly produce, either
because some resources are not being used (for example,
workers may be unemployed), or because it is not using
the most efficient methods of production possible, or a
combination of the two. By using its resources to the full,
however, the nation could move out on to the curve:

NS Making a fuller use of resources

Food

Clothing

to point x or y, for example. It could thus produce more
clothing and more food.

Here we are concerned not with the combination of
goods produced (a microeconomic issue), but with whether
the total amount produced is as much as it could be
(a macroeconomic issue).

Over time, the production possibilities of a nation are
likely to increase. Investment in new plant and machinery
will increase the stock of capital; new raw materials may be
discovered; technological advances are likely to take place;
through education and training, labour is likely to become
more productive. This growth in potential output is illus-
trated by an outward shift in the production possibility
curve. This will then allow actual output to increase: for
example, from point x to point x” in Figure 1.4.

? Will economic growth necessarily involve a parallel
H outward shift of the production possibility curve?

Definition

Investment The production of items that are not for
immediate consumption.
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lllustrating economic issues: the circular
flow of goods and incomes

The process of satisfying human wants involves pro-
ducers and consumers. The relationship between them
is two-sided and can be represented in a flow diagram
(see Figure 1.5).

The consumers of goods and services are labelled ‘house-
holds’. Some members of households, of course, are also
workers, and in some cases are the owners of other factors
of production too, such as land. The producers of goods
and services are labelled ‘firms’.?

Firms and households are in a twin ‘demand and supply’
relationship with each other.

* In practice, much of society’s production takes place within the household
for its members’ own consumption. Examples include cooking, washing,
cleaning, growing vegetables, do-it-yourself activities and child care. Also,
firms buy from and sell to each other — whether it be raw materials, capital
goods or semi-finished goods. Nevertheless, it is still useful to depict the flows
of goods and services and money between households and firms when
explaining the operation of markets.

ZTENBON  Circular flow of goods and incomes
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First, in the top part of the diagram, households demand
goods and services, and firms supply goods and services.
In the process, exchange takes place. In a money economy
(as opposed to a barter economy), firms exchange goods
and services for money. In other words, money flows from
households to firms in the form of consumer expenditure,
while goods and services flow the other way — from firms to
households.

This coming together of buyers and sellers is known as a
market — a street market, a shop, an auction, a mail-order
system or whatever. Thus we talk about the market for
apples, for oil, for cars, for houses, for televisions, and so on.

Second, firms and households come together in the
market for factors of production. This is illustrated in the
bottom half of Figure 1.5. This time the demand and
supply roles are reversed. Firms demand the use of factors
of production owned by households - labour, land and
capital. Households supply them. Thus the services of
labour and other factors flow from households to firms,
and in exchange firms pay households money — namely,
wages, rent, dividends and interest. Just as we referred to
particular goods markets, so we can also refer to particular
factor markets — the market for bricklayers, for secretaries,
for hairdressers, for land, and so on.

There is thus a circular flow of incomes. Households earn
incomes from firms and firms earn incomes from house-
holds. The money circulates. There is also a circular flow
of goods and services, but in the opposite direction.
Households supply factor services to firms who then use
them to supply goods and services to households.

Definitions

Barter economy An economy where people exchange
goods and services directly with one another without
any payment of money. Workers would be paid with
bundles of goods.

Market The interaction between buyers and sellers.

Goods and services

£
Consumer

expenditure

Wages, rent,

i dividends, etc. l
\&/_/’//

Factors of production
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This flow diagram, like the production possibility curve,
can help us to distinguish between microeconomics and
macroeconomics.

Microeconomics is concerned with the composition of
the circular flow: what combinations of goods make up

the goods flow; how the various factors of production are
combined to produce these goods; for whom the wages,
dividends, rent and interest are paid out.

Macroeconomics is concerned with the total size of the
flow and what causes it to expand and contract.

Section summary

1. The central economic problem is that of scarcity.
Given that there is a limited supply of factors of
production (labour, land and capital), it is impossible
to provide everybody with everything they want.
Potential demands exceed potential supplies.

2. The subject of economics is usually divided
into two main branches, macroeconomics and
microeconomics.

3. Macroeconomics deals with aggregates such as the
overall levels of unemployment, output, growth and
prices in the economy.

4. Microeconomics deals with the activities of
individual units within the economy: firms,
industries, consumers, workers, etc. Because
resources are scarce, people have to make choices.
Society has to choose by some means or other what
goods and services to produce, howto produce
them and for whom to produce them.
Microeconomics studies these choices.

5. Rational choices involve weighing up the marginal
benefits of each activity against its marginal
opportunity costs. If the marginal benefits exceed
the marginal costs, it is rational to choose to do
more of that activity.

6. The production possibility curve shows the possible
combinations of two goods that a country can
produce in a given period of time. Assuming that
the country is already producing on the curve,
the production of more of one good will involve
producing less of the other. This opportunity cost is
illustrated by the slope of the curve. If the economy
is producing within the curve as a result of idle
resources or inefficiency, it can produce more of
both goods by taking up this slack. In the longer term
it can only produce more of both by shifting the curve
outwards through investment, technological
progress, etc.

7. Thecircular flow of goods and incomes shows the
interrelationships between firms and households
in a money economy. Firms and households come
together in markets. In goods markets, firms supply
goods and households demand goods. In the process,
money flows from households to firms in return for
the goods and services that the firms supply. In
factor markets, firms demand factors of production
and households supply them. In the process, money
flows from firms to households in return for the
services of the factors that households supply.

1.2 DIFFERENT ECONOMIC SYSTEMS

[l The classification of economic systems

All societies are faced with the problem of scarcity. They
differ considerably, however, in the way they tackle the
problem. One important difference between societies is
in the degree of government control of the economy.

At the one extreme lies the completely planned or
command economy, where all the economic decisions are
taken by the government.

At the other extreme lies the completely free-market
economy. In this type of economy there is no government
intervention at all. All decisions are taken by individuals

Definitions

Centrally planned or command economy An economy
where all economic decisions are taken by the central
authorities.

and firms. Households decide how much labour and other
factors to supply, and what goods to consume. Firms decide
what goods to produce and what factors to employ. The
pattern of production and consumption that results depends
on the interactions of all these individual demand and
supply decisions.

In practice, all economies are a mixture of the two. It is
therefore the degree of government intervention that dis-
tinguishes different economic systems. Thus in the former
communist countries of eastern Europe, the government
played a large role, whereas in the USA, the government
plays a much smaller role.

Free-market economy An economy where all economic
decisions are taken by individual households and firms and
with no government intervention.
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It is nevertheless useful to analyse the extremes, in order
to put the different mixed economies of the real world into
perspective. The mixture of government and the market
can be shown by the use of a spectrum diagram such as
Figure 1.6. It shows where particular economies of the real
world lie along the spectrum between the two extremes.

The diagram is useful in that it provides a simple picture
of the mixture of government and the market that exists in
various economies. It can also be used to show changes in
the mixture over time.

The problem with this type of classification is that it is
‘unidimensional’, and thus rather simplistic. Countries also
differ in the type of government intervention as well as the
level. For example, governments intervene through plan-
ning, public ownership, regulation, taxes and subsidies,
partnership schemes with private industry, and so on.
Thus two countries could be in a similar position along the
spectrum but have quite different types of government
intervention.

Notice that there has been a general movement to the
right along the spectrum since the early 1980s. In former
communist countries this has been a result of the abandon-
ment of central planning and the adoption of a large meas-
ure of private enterprise, especially since the late 1980s. In
western economies it has been a result of deregulation of
private industry and privatisation (the selling of national-
ised industries to the private sector).

? Do you agree with the positions that the eight countries

have been given in the spectrum diagram? Explain why
or why not.

The informal sector: a third dimension

In all societies, many economic decisions are made,
whether individually or in groups, which involve neither
the government nor the market. For example, many of
the activities taking place in the home, such as cooking,
cleaning, decorating, clothes making, gardening and care
for children or the elderly, can be seen as ‘economic’ activ-
ities. There is an output (such as a meal or a service pro-
vided) and there is an opportunity cost to the provider (in
terms of alternative activities forgone). And yet no money
changes hands. Similarly, many of the activities done in

groups, such as clubs, societies and charities, involve the
provision of goods and/or services, but again, no money
changes hands.

These activities are taking place in the informal sector.
The relative size of the informal sector varies from one
country to another and over time. In rich countries, as
more and more mothers go out to work and as working
hours have increased, many people employ others to do
the jobs, such as cleaning and child care, that they once did
themselves. What was once part of the informal sector is
now part of the market sector.

In many developing countries, much of the economic
activity in poorer areas involves subsistence production.
This is where people grow their own food, build their own
shelter, make their own clothes, etc. While some of the
inputs (e.g. yarn) may have to be purchased through the
market, much of this production is in the informal sector
and involves no exchange of money.

The command economy

The command economy is usually associated with a social-
ist or communist economic system, where land and capital
are collectively owned. The state plans the allocation of
resources at three important levels:

e [t plans the allocation of resources between current con-
sumption and investment for the future. By sacrificing
some present consumption and diverting resources into
investment, it could increase the economy’s growth rate.

Definitions

Mixed economy An economy where economic
decisions are made partly by the government and
partly through the market.

Informal sector The parts of the economy that involve
production and/or exchange, but where there are no
money payments.

Subsistence production Where people produce things
for their own consumption.
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= CASE STUDIES AND APPLICATIONS

THE RISE AND FALL OF PLANNING IN THE FORMER SOVIET UNION

I

INTRODUCING ECONOMICS

Early years

The Bolsheviks under the leadership of Lenin came to
power in Russia with the October revolution of 1917.
The Bolsheviks, however, were opposed by the White
Russians and civil war ensued.

During this period of War Communism, the market
economy was abolished. Industry and shops were
nationalised; workers were told what jobs to do; there
were forced requisitions of food from peasants to feed
the towns; the money economy collapsed as rampant
inflation made money worthless; workers were
allocated goods from distribution depots.

With the ending of the civil war in 1921, the economy
was in bad shape. Lenin embarked on a New Economic
Policy. This involved a return to the use of markets.
Smaller businesses were returned to private hands,
and peasants were able to sell their food rather than
having it requisitioned. The economy began to recover.

Lenin died in 1924 and Stalin came to power.

The Stalinist system

The Soviet economy underwent a radical
transformation from 1928 onwards. The key features
of the Stalinist approach were collectivisation,
industrialisation and central planning.

Collectivisation of agriculture

Peasant farms were abolished and replaced by large-
scale collective farms where land was collectively owned
and worked. Collectivisation initially caused massive
disruption and famine, with peasants slaughtering their
animals rather than giving them up to the collective.
People died in their thousands. Despite an initial fall

in output, more food was provided for the towns, and
many workers left the land to work in the new industries.

The amount of resources it chooses to devote to

investment will depend on its broad macroeconomic
strategy: the importance it attaches to growth as opposed
to current consumption.
At a microeconomic level, it plans the output of each
industry and firm, the techniques that will be used, and
the labour and other resources required by each industry
and firm.

In order to ensure that the required inputs are avail-
able, the state would probably conduct some form of
input-output analysis. All industries are seen as users of
inputs from other industries and as producers of output
for consumers or other industries. For example, the steel
industry uses inputs from the coal and iron-ore indus-
tries and produces output for the vehicle and construc-
tion industries. Input-output analysis shows, for each
industry, the sources of all its inputs and the destin-
ation of all its output. By using such analysis the state

In addition to the collective farms, state farms were
established. These were owned by the state and were
run by managers appointed by the state. Workers were
paid a wage rather than having a share in farm income.

Both collective and state farms were given quotas of
output that they were supposed to deliver, for which
the state would pay a fixed price.

Industry and central planning

A massive drive to industrialisation took place. To
achieve this a vast planning apparatus was developed.
At the top was Gosplan, the central planning agency.
This prepared five-year plans and annual plans.

The five-year plans specified the general direction
in which the economy was to move. The annual plans
gave the details of just what was to be produced and
with what resources for some 200 or so key products.
Other products were planned at a lower level — by
various industrial ministries or regional authorities.

The effect was that all factories were given targets
that had to be achieved. It was the task of the planning
authorities to ensure that the targets were realistic: that
there were sufficient resources to meet the targets.
The system operated without the aid of the price
mechanism and the profit motive. The main incentive
was the bonus: bonuses were paid to managers and
workers if targets were achieved.

Stalin died in 1953. The planning system, however,
remained largely unchanged until the late 1980s. In the
early years, very high growth rates were achieved; but
this was at a cost of low efficiency. The poor flow of
information from firms to the planners led to many
inconsistencies in the plans. The targets were often
totally unrealistic, and as a result there were frequent
shortages and sometimes surpluses. With incentives

attempts to match up the inputs and outputs of each
industry so that the planned demand for each industry’s
product is equal to its planned supply.

It plans the distribution of output between consumers.
This will depend on the government’s aims. It may dis-
tribute goods according to its judgement of people’s
needs; or it may give more to those who produce more,
thereby providing an incentive for people to work harder.

Definition

Input-output analysis This involves dividing the
economy into sectors where each sector is a user of
inputs from and a supplier of outputs to other sectors.
The technique examines how these inputs and outputs
can be matched to the total resources available in the
economy.



purely geared to meeting targets, there was little
product innovation and goods were frequently of poor
quality and finish.

The limits of planning

Although most resources were allocated through
planning, there were nevertheless some goods that
were sold in markets. Any surpluses above their quota
that were produced by collective farms could be sold in
collective farm markets (street markets) in the towns. In
addition, the workers on collective farms were allowed
to own their own small private plots of land, and they too
could sell their produce in the collective farm markets.

A large ‘underground economy’ flourished in which
goods were sold on the black market and in which
people did second ‘unofficial’ jobs (e.g. as plumbers,
electricians or garment makers).

Gorbachev’s reforms

During the 1970s growth had slowed down and by the
time Gorbachev came to power in 1985 many people
were pressing for fundamental economic reforms.
Gorbachev responded with his policy of perestroika
(economic reconstruction), which among other things
included the following:

e Making managers more involved in preparing
their own plans rather than merely being given
instructions.

¢ |nsisting that firms cover their costs of production.
If they could not, the state might refuse to bale them
out and they could be declared bankrupt. The aim
of this was to encourage firms to be more efficient.

e Improving the incentive system by making bonuses
more related to genuine productivity. Workers had

It may distribute goods and services directly (for
example, by a system of rationing); or it may decide the
distribution of money incomes and allow individuals to
decide how to spend them. If it does the latter, it may
still seek to influence the pattern of expenditure by
setting appropriate prices: low prices to encourage con-
sumption, and high prices to discourage consumption.

Assessment of the command economy

With central planning, the government could take an
overall view of the economy. It could direct the nation’s
resources in accordance with specific national goals.

High growth rates could be achieved if the govern-
ment directed large amounts of resources into investment.
Unemployment could be largely avoided if the government
carefully planned the allocation of labour in accordance
with production requirements and labour skills. National
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BOX 1.5

come to expect bonuses no matter how much or
how little was produced.

e Organising workers into small teams or ‘brigades’
(typically of around 10-15 workers). Bonuses were
then awarded to the whole brigade according to its
productivity. The idea was to encourage people to
work more effectively together.

e Stringent checks on quality by state officials and the
rejection of substandard goods.

¢ Allowing one-person businesses and co-operatives
(owned by the workers) to be set up.

e A greater willingness by the state to raise prices if
there were substantial shortages.

These reforms, however, did not halt the economic
decline. What is more, there was now an unhappy mix
of planning and the market, with people unclear as to
what to expect from the state. Many managers resented
the extra responsibilities they were now expected to
shoulder and many officials saw their jobs threatened.
Queues lengthened in the shops and people
increasingly became disillusioned with perestroika.
Following the failed coup of 1991, in which hard-line
communists had attempted to reimpose greater state
control, and with the consequent strengthening of the
position of Boris Yeltsin, the Russian president and
the main advocate of more radical reforms, both the
Soviet Union and the system of central planning came
to an end.

Russia embarked upon a radical programme of
market reforms in which competition and enterprise
were intended to replace state central planning (see
Web Cases 12.9 and 12.10). The Stalinist system now
appears to be but a fading memory. (See also Web
Case 1.5, Free-market medicine in Russia.)

income could be distributed more equally or in accordance [
with needs. The social repercussions of production and
consumption (e.g. the effects on the environment) could
be taken into account, provided the government was able
to predict these effects and chose to take them into
account.

In practice, a command economy could achieve these
goals only at considerable social and economic cost. The
reasons are as follows:

e The larger and more complex the economy, the greater AP}
the task of collecting and analysing the information
essential to planning, and the more complex the plan.
Complicated plans are likely to be costly to administer
and involve cumbersome bureaucracy.

e If there is no system of prices, or if prices are set arbit- J{E
rarily by the state, planning is likely to involve the
inefficient use of resources. It is difficult to assess the
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relative efficiency of two alternative techniques that use
different inputs, if there is no way in which the value of
those inputs can be ascertained. For example, how can
a rational decision be made between an oil-fired and a
coal-fired furnace if the prices of oil and coal do not
reflect their relative scarcity?

e [t is difficult to devise appropriate incentives to
encourage workers and managers to be more productive
without a reduction in quality. For example, if bonuses
are given according to the quantity of output produced,
a factory might produce shoddy goods, since it can prob-
ably produce a larger quantity of goods by cutting qual-
ity. To avoid this problem, a large number of officials
may have to be employed to check quality.

e Complete state control over resource allocation would
involve a considerable loss of individual liberty. Workers
would have no choice where to work; consumers would
have no choice what to buy.

e The government might enforce its plans even if they
were unpopular.

e [f production is planned, but consumers are free to spend
money incomes as they wish, there will be a problem
if the wishes of consumers change. Shortages will occur
if consumers decide to buy more; surpluses will occur if
they decide to buy less.

Most of these problems were experienced in the former
Soviet Union and the other Eastern bloc countries, and
were part of the reason for the overthrow of their com-
munist regimes (see Box 1.5).

The free-market economy

Free decision making by individuals

In a free market, individuals are free to make their own
economic decisions. Consumers are free to decide what to
buy with their incomes: free to make demand decisions.
Firms are free to choose what to sell and what production
methods to use: free to make supply decisions. The demand
and supply decisions of consumers and firms are transmit-
ted to each other through their effect on prices: through the
price mechanism. The prices that result are the prices that
firms and consumers have to accept.

The price mechanism

The price mechanism works as follows. Prices respond to
shortages and surpluses. Shortages result in prices rising.
Surpluses result in prices falling. Let us take each in turn.

Definitions

The price mechanism The system in a market economy
whereby changes in price in response to changes in demand
and supply have the effect of making demand equal to

supply.

If consumers decide they want more of a good (or if
producers decide to cut back supply), demand will exceed
supply. The resulting shortage will cause the price of the
good to rise. This will act as an incentive to producers to
supply more, since production will now be more profit-
able. At the same time it will discourage consumers from
buying so much. Price will continue rising until the shortage
has thereby been eliminated.

If, on the other hand, consumers decide they want less of
a good (or if producers decide to produce more), supply will
exceed demand. The resulting surplus will cause the price
of the good to fall. This will act as a disincentive to producers,
who will supply less, since production will now be less pro-
fitable. It will encourage consumers to buy more. Price will
continue falling until the surplus has thereby been eliminated.

This price, where demand equals supply, is called the
equilibrium price. By equilibrium we mean a point of
balance or a point of rest: in other words, a point towards
which there is a tendency to move.

The same analysis can be applied to labour (and other
factor) markets, except that here the demand and supply
roles are reversed. Firms are the demanders of labour.
Individuals are the suppliers. If the demand for a particular
type of labour exceeded its supply, the resulting shortage
would drive up the wage rate (i.e. the price of labour), thus
reducing firms’ demand for that type of labour and encour-
aging more workers to take up that type of job. Wages
would continue rising until demand equalled supply: until
the shortage was eliminated.

Likewise if there were a surplus of a particular type of
labour, the wage would fall until demand equalled supply.
As with price, the wage rate where the demand for labour
equals the supply is known as the equilibrium wage rate.

? Can you think of any examples where prices and wages
do not adjust very rapidly to a shortage or surplus? For
what reasons might they not do so?

The response of demand and supply to changes in price
illustrates a very important feature of how economies work:
People respond to incentives. It is important, therefore, that
incentives are appropriate and have the desired effect. This
is the third of our fifteen threshold concepts (see panel).

The effect of changes in demand and supply

How will the price mechanism respond to changes in
consumer demand or producer supply? After all, the pattern
of consumer demand changes. For example, people may
decide they want more mountain bikes and fewer racers.

Equilibrium price The price where the quantity
demanded equals the quantity supplied: the price
where there is no shortage or surplus.

Equilibrium A position of balance. A position from which
there is no inherent tendency to move away.
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When there is a shortage of a good, its market price will
rise. There will thus be an incentive for us to consume
less. After all, the opportunity cost has risen. It might
be better to switch to a cheaper alternative or simply to
consume less and use the money saved to buy some-
thing entirely different.

Similarly, when the price of a good rises, there is an
incentive for firms to produce more. After all, the good
is now more profitable to produce and thus firms might
consider producing more of this and cutting down the
production of less profitable products.

These two incentives of a rise in price could be seen as
desirable, as they result in the shortage being elimin-
ated and consumers being able to buy more of a good
where demand initially exceeds supply.

Incentives, however, could be ‘perverse’. In other
words, they could have undesirable effects. For exam-
ple, if a particular course or module on your degree is
assessed by two pieces of coursework, this may act as
an incentive for you to concentrate solely on these two
pieces and do little work on the remainder of the
course!

There are plenty of other examples where incentives
can be perverse. For example, making insurance com-
pulsory may encourage people to take risks. Making
cars safer may encourage people to drive faster.
Increasing top rates of income tax may encourage high
earners to work less or to evade paying taxes by not
declaring income - tax revenues may end up falling.

If an economic system is to work well, it is important,
therefore, that the incentives are appropriate and do
not bring about undesirable side-effects. This is a
threshold concept because virtually every action taken
by households or firms is influenced by incentives. We
need to understand just what the incentives are; what
their effects are likely to be; and how the incentives
could be improved.

Likewise the pattern of supply changes. For example,
changes in technology may allow the mass production of
microchips at lower cost, while the production of hand-
built furniture becomes relatively expensive.

In all cases of changes in demand and supply, the result-
ing changes in price act as both signals and incentives.

A change in demand. A rise in demand is signalled by a
rise in price. This then acts as an incentive for supply to rise.
What in effect is happening is that the high price of these
goods relative to their costs of production is signalling that
consumers are willing to see resources diverted from other
uses. This is just what firms do. They divert resources from
goods with lower prices relative to costs (and hence lower
profits) to those goods that are more profitable.

1.2 DIFFERENT ECONOMIC SYSTEMS 21

THINKING LIKE AN ECONOMIST THRESHOLD CONCEPT 3

PEOPLE RESPOND TO INCENTIVES. IT IS IMPORTANT, THEREFORE,
THAT THESE HAVE THE DESIRED EFFECT.

This was something increasingly recognised in the for-
mer Soviet Union in the days of central planning: but
too late! The targets given to factory managers (see
Box 1.5) were often inappropriate. For example, if
targets were specified in tonnes, the incentive was to
produce heavy products. Soviet furniture and cooking
utensils tended to be very heavy! If targets were set in
area (e.g. sheet glass), then the incentive was to pro-
duce thin products. If targets were set simply in terms
of number of units, then the incentive was to produce
shoddy products.

The lessons of Soviet planning, however, have been
lost on many in the West. Today across the public sec-
tor, and large parts of the private sector too, people are
set targets. Thus if hospitals are given the target to
reduce waiting lists, the incentive is to cut down on the
quality of treatment so that as many patients as pos-
sible can be seen. If the target for universities is to
reduce failure rates, then the incentive is to make it
easier for students to pass.

One crucial incentive we shall be examining is that of
profit. In a competitive environment, firms striving for
increased profit may result in better products and a
lower price for consumers as firms seek to undercut
each other. In other cases, however, firms may be able
to make bigger profits by controlling the market and
keeping competitors out or by colluding with them.
Here the profit incentive has a perverse effect: it leads
to higher prices for consumers and less choice.

? 1. Give two other examples of perverse incentives.
How could the incentives be improved?

2. Find out just what the learning objectives are of
the economics course or module that you are
studying. What positive incentives are there for
you to meet these learning objectives? Identify
any perverse incentives and how you would
change them.

A fall in demand is signalled by a fall in price. This then
acts as an incentive for supply to fall. The goods are now
less profitable to produce.

A change in supply. A rise in supply is signalled by a fall
in price. This then acts as an incentive for demand to rise. A
fall in supply is signalled by a rise in price. This then acts as
an incentive for demand to fall.

LG'A Changes in demand or supply cause markets
Idea N
n to adjust. Whenever such changes occur, the
resulting ‘disequilibrium’ will bring an automatic
change in prices, thereby restoring equilibrium

(i.e. a balance of demand and supply).
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Leave things up to the market. The market will sort it
out. It's what the market wants. You can’t buck the
market.

These are typical sayings about the market and empha-
sise the power of market forces. The point is that our
lives are affected massively by markets. Market forces
affect the prices of the things we buy and the incomes
we earn. Even governments find it difficult to control
many key markets. Governments might not like it when
stock market prices plummet or when oil prices soar,
but there is precious little they can do about it.

In many ways a market is like a democracy. People, by
choosing to buy goods, are voting for them to be pro-
duced. Firms finding ‘a market’ for their products are
happy to oblige and produce them. The way it works is
simple. If people want more of a product, they buy
more and thereby ‘cast their votes’ (i.e. their money) in
favour of more being produced. The resulting shortage
drives up the price, which gives firms the incentive to
produce more of the product. In other words, firms are
doing what consumers want — not because of any ‘love’
for consumers, or because they are being told to pro-
duce more by the government — but because it is in
their own self-interest. They supply more because the
higher price has made it profitable to do so.

This is a threshold concept because to understand mar-
ket forces — the forces of demand and supply - is to go
straight to the heart of a market economy and under-
stand what makes it tick. And in this process, prices are
the key. It is changes in price that balance demand and
supply. If demand exceeds supply, price will rise. This
will choke off some of the demand and encourage more
supply until demand equals supply — until an equilib-
rium has been reached. If supply exceeds demand,
price will fall. This will discourage firms from supplying
so much and encourage consumers to buy more, until,
once more, an equilibrium has been reached.

In this process, markets act like an ‘invisible hand’ - a
term coined by the famous economist Adam Smith
(see Box 1.6). Market prices guide both producers to

The fact that markets adjust so as to equate demand and

THINKING LIKE AN ECONOMIST THRESHOLD CONCEPT 4

MARKETS EQUATE DEMAND AND SUPPLY

respond to consumer demand and consumers to
respond to changes in producer supply.

In many circumstances, markets bring outcomes that
people want. As we have seen, if consumers want
more, then market forces will lead to more being pro-
duced. Sometimes, however, market forces can bring
adverse effects. We explore these at various parts of
the book. It is important, at this stage, however, to
recognise that markets are rarely perfect. Market fail-
ures, from pollution to the domination of our lives by
big business, are very real. Understanding this brings
us to Threshold Concept 6 (see page 26).

Partial equilibrium

The type of equilibrium we will be examining for the
next few chapters is known as ‘partial equilibrium’. It is
partial because what we are doing is examining just
one tiny bit of the economy at a time: just one market
(e.g. that for eggs). It is even partial within the market
for eggs because we are assuming that price is the only
thing that changes to balance demand and supply: that
nothing else changes. In other words, when we refer to
equilibrium price and quantity, we are assuming that
all the other determinants of both demand and supply
are held constant.

If another determinant of demand or supply does
change, there would then be a new partial equilibrium
as price adjusts and both demanders and suppliers
respond. For example, if a health scare connected with
egg consumption causes the demand for eggs to fall,
the resulting surplus will lead to a fall in the equilibrium
price and quantity.

? 1. Ifthere is a shortage of certain skilled workers in
the economy, how will market forces lead to an
elimination of the skills shortage?
2. If consumers want more of a product, is it always
desirable that market forces result in more being
produced?

The interdependence of markets

ly i fourth ‘Threshold C t’ 1).
SUpPRy Is ot tout reshold Concept’ (see panel) The interdependence of goods and factor markets. A rise JETE

? 1. Why do the prices of fresh vegetables fall when they in demand for a good will raise its price and profitability.

are in season? Could an individual farmer prevent
the price falling?

2. Ifyou were the owner of a clothes shop, how
would you set about deciding what prices to
charge for each garment at the end-of-season
sale?

3. The number of owners of compact disc players has
grown rapidly and hence the demand for compact
discs has also grown rapidly. Yet the prices of discs
have fallen. Why?

! Firms will respond by supplying more. But to do this they
will need more inputs. Thus the demand for the inputs will
rise, which in turn will raise the price of the inputs. The
suppliers of inputs will respond to this incentive by supply-

ing more. This can be summarised as follows:

1. Goods market
e Demand for the good rises.
e This creates a shortage.
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ZL NI The price mechanism: the effect of a rise in demand

Goods market

D,4 —> shortage —> P, 4 ~ until D, = S,
(Dy> S,) Dy
Factor market
St
/ .

S,4 —> D 4 ——> shortage —> P 4 until D, = S

(D> S) ™~ D,y
(where D = demand, S = supply, P = price, g = the good, i = inputs, —> means ‘leads to’)

e This causes the price of the good to rise.

e This eliminates the shortage by choking off some of
the demand and encouraging firms to produce more.

2. Factor market

e The increased supply of the good causes an increase in
the demand for factors of production (i.e. inputs)
used in making it.

e This causes a shortage of those inputs.

e This causes their prices to rise.

e This eliminates their shortage by choking off some of
the demand and encouraging the suppliers of inputs
to supply more.

It can thus be seen that changes in goods markets will
cause changes in factor markets. Figure 1.7 summarises this
sequence of events. (It is common in economics to sum-
marise an argument like this by using symbols.)

Interdependence exists in the other direction too: factor
markets affect goods markets. For example, the discovery of
raw materials will lower their price. This will lower the
costs of production of firms using these raw materials and
will increase the supply of the finished goods. The resulting
surplus will lower the price of the good, which will encour-
age consumers to buy more.

Summarise this last paragraph using symbols like
. those in Figure 1.7.

The interdependence of different goods markets. A rise
in the price of one good will encourage consumers to buy
alternatives. This will drive up the price of alternatives.
This in turn will encourage producers to supply more of the
alternatives.

r) Are different factor markets similarly interdependent?
H Give examples.

Conclusion
Even though all individuals are merely looking to their own
self-interest in the free-market economy, they are in fact being

encouraged to respond to the wishes of others through the

incentive of the price mechanism. (See Web Case 1.4 The
interdependence of markets on the book’s website and Box 1.6.)

Assessment of the free-market economy

The fact that a free-market economy functions automatic-
ally is one of its major advantages. There is no need for
costly and complex bureaucracies to co-ordinate economic
decisions. The economy can respond quickly to changing
demand and supply conditions.

When markets are highly competitive, no one has great
power. Competition between firms keeps prices down and
acts as an incentive to firms to become more efficient. The
more firms there are competing, the more responsive they
will be to consumer wishes.

The more efficiently firms can combine their factors of
production, the more profit they will make. The more effici-
ently workers work, the more secure will be their jobs and the
higher their wages. The more carefully consumers decide what
to buy, the greater the value for money they will receive.

Thus people pursuing their own self-interest through
buying and selling in competitive markets helps to min-
imise the central economic problem of scarcity, by encour-
aging the efficient use of the nation’s resources in line with
consumer wishes. From this type of argument, the follow-
ing conclusion is often drawn by defenders of the free
market: “The pursuit of private gain results in the social
good.’” This is obviously a highly significant claim and has
profound moral implications (see Threshold Concept 5).

In practice, however, markets do not achieve maximum
efficiency in the allocation of scarce resources, and govern-
ments feel it necessary to intervene to rectify this and other
problems of the free market. The problems of a free market
are as follows:

e Competition between firms is often limited. A few giant
firms may dominate an industry. In these cases they may
charge high prices and make large profits. Rather than
merely responding to consumer wishes, they may attempt
to persuade consumers by advertising. Consumers are

Ki1
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ADAM SMITH (1723-90)

and the ‘invisible hand’ of the market

Many economists would argue that modern economics
dates from 1776. That was the year in which Adam
Smith’s An Inquiry into the Nature and Causes of the
Wealth of Nations was published — one of the most
important books on economics ever written.

Adam Smith was born in 1723 in Kirkcaldy, a small
coastal town north of Edinburgh. After graduating from
Glasgow University at the age of 17, he first became a
fellow of Balliol College Oxford, but then returned to
Scotland and at the age of 29 became professor of
moral philosophy at the University of Glasgow. At the
age of 40 he resigned and spent three years touring the
continent where he met many influential economists
and philosophers. He then returned to Scotland, to his
home town of Kirkcaldy, and set to work on The Wealth
of Nations.

The work, in five books, is very wide ranging,
but the central argument is that market economies
generally serve the public interest well. Markets guide
production and consumption like an invisible hand.

Even though everyone is looking after their own private
self-interest, their interaction in the market will lead to
the social good.

In book I, chapter 2, he writes:

Man has almost constant occasion for the help

of his brethren and it is in vain for him to expect

it from their benevolence only. . . . It is not from the
benevolence of the butcher, the brewer, or the baker
that we expect our dinner, but from their regard to
their own interest. We address ourselves, not to their
humanity but to their self-love, and never talk to
them of our own necessities, but of their advantages.

Later, in book IV, chapter 2, he continues:

Every individual is continually exerting himself to
find out the most advantageous employment of
whatever capital he can command. It is his own
advantage, indeed, and not that of the society, which
he has in view. But the study of his own advantage

THINKING LIKE AN ECONOMIST THRESHOLD CONCEPT 5
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Economic interaction between people can take a number
of different forms. Sometimes it takes place in markets.
For example, when goods are exchanged, there is
interaction between the consumer and the shop. When
someone is employed, there is interaction between
the employer and the employee. When a firm buys raw
materials, there is interaction between the purchasing
firm and the selling firm.

In each case there is a mutual gain. If there wasn’t, the
interaction would not take place. If you choose to go
on a package holiday costing £400, then assuming the
holiday turns out as you expected, you will have
gained. You would rather have the holiday than spend
the £400 on something else. The marginal benefit to
you exceeds the marginal cost. The travel agent and
tour operator also gain. They make a profit on selling
you the holiday. It is a ‘win—-win situation’. This is some-
times called a positive sum game: an interaction where
there is a positive net gain.

Another example is international trade (the subject of
Chapter 23). If two countries trade with each other,
there will be a net gain to both of them. If there wasn’t,
they would not trade. Both countries will end up con-
suming a greater value of products than they could
without trade. The reason is that each country can spe-
cialise in the products it is relatively good at producing
(compared to the other country) and export them, and
import from the other country the goods it is relatively
poor at producing.

And it's not just in markets that human interaction
results in a net gain. If you go out with friends, norm-

PEOPLE GAIN FROM VOLUNTARY ECONOMIC INTERACTION

ally you will all benefit — unless you end up falling out
or something else goes wrong! If you are a member of
a football team, a political party or choir, you hope that
it's not just you that gains, but the other members too.

That there is a net gain from voluntary interaction is
a threshold concept because realising this tends to
change the way we look at economic activity. Often it
is important to identify what these overall gains are so
that we can compare them with alternative forms of
interaction. For example, even though both workers
and their employer respectively gain from the wages
currently paid and the output currently produced, it
might still be possible to reorganise the workforce in a
way that increases production. This could allow the
employer to pay higher wages and still gain an increase
in profits. Both sides could thus gain from constructive
negotiation about wages and new work practices.
Sometimes it may appear that voluntary interaction
results in one side gaining and the other losing. For
example, a firm may raise its price. It gains and the con-
sumer loses. But is this strictly true? Consumers are
certainly worse off than before, but as long as they are
still prepared to buy the product, they must consider
that they are still gaining more by buying it than by not.
There is still a gain to both sides: it’s just that the firm is
gaining more and the consumer is gaining less.

? 1. Would you ever swap things with friends if both
of you did not gain? Explain your answer.
2. Give one or two examples ofinvoluntary (i.e.
compulsory) economic interaction, where one
side gains but the other loses.



naturally, or rather necessarily, leads him to prefer
that employment which is most advantageous to
the society . . . he intends only his own gain, and he
is in this, as in many other cases, led by an invisible
hand to promote an end which was no part of his
intention. Nor is it always the worse for the society
that it was no part of it. By pursuing his own interest
he frequently promotes that of society more
effectually than when he really intends to promote it.

He argued, therefore, with one or two exceptions,
that the state should not interfere with the functioning
of the economy. It should adopt a /aissez-faire or
‘hands-off’ policy. It should allow free enterprise
for firms and free trade between countries.

This praise of the free market has led many on
the political right to regard him as the father of the
‘libertarian movement’ —the movement that advocates
the absolute minimum amount of state intervention
in the economy (see Box 11.6 on pages 324-5). In fact

particularly susceptible to advertisements for products
that are unfamiliar to them.

e Lack of competition and high profits may remove the
incentive for firms to be efficient.

{78 ¢ Power and property may be unequally distributed. Those

who have power and/or property (e.g. big business,
unions, landlords) will gain at the expense of those
without power and property.

¢ The practices of some firms may be socially undesirable. For
example, a chemical works may pollute the environment.

e Some socially desirable goods would simply not be
produced by private enterprise. What firm would build
and operate a lighthouse, unless it were paid for by the
government?

e A free-market economy may lead to macroeconomic
instability. There may be periods of recession with high
unemployment and falling output, and other periods of
rising prices.

¢ Finally, there is the ethical objection, that a free-market
economy, by rewarding self-interested behaviour, may
encourage selfishness, greed, materialism and the acquisi-
tion of power.

The fact that free markets may fail to meet various social
objectives is Threshold Concept 6.

The mixed economy

Because of the problems of both free-market and command
economies, all real-world economies are a mixture of the
two systems.

In mixed market economies, the government may con-
trol the following:

1.2 DIFFERENT ECONOMIC SYSTEMS 25

BOX 1.6

one of the most famous of the libertarian societies is
called ‘The Adam Smith Institute’.

But Smith was not blind to the drawbacks of
unregulated markets. In book I, chapter 7, he looks at
the problem of monopoly:

A monopoly granted either to an individual or to

a trading company has the same effect as a secret

in trade or manufactures. The monopolists, by
keeping the market constantly under-stocked, by
never fully supplying the effectual demand, sell their
commodities much above the natural price, and
raise their emoluments, whether they consist in
wages or profit, greatly above their natural rate.

Later on he looks at the dangers of firms getting
together to pursue their mutual interest:

People of the same trade seldom meet

together, even for merriment or diversion, but
the conversation ends in a conspiracy against the
public or in some contrivance to raise prices.

e Relative prices of goods and inputs, by taxing or sub-
sidising them or by direct price controls.

e Relative incomes, by the use of income taxes, welfare
payments or direct controls over wages, profits, rents, etc.

e The pattern of production and consumption, by the use
of legislation (e.g. making it illegal to produce unsafe
goods), by direct provision of goods and services (e.g.
education and defence), by taxes and subsidies or by
nationalisation.

e The macroeconomic problems of unemployment,

inflation, lack of growth, balance of trade deficits and

exchange-rate fluctuations, by the use of taxes and gov-

ernment expenditure, the control of bank lending and

interest rates, the direct control of prices and the control

of the foreign exchange rate.

The fact that government intervention can be used to
rectify various failings of the market is Threshold Con-
cept 7. Note, however, that governments are not perfect
and their actions may bring adverse as well as beneficial
consequences.

Just how the government intervenes, and what the
effects of the various forms of intervention are, will be
examined in detail in later chapters.

Definitions

Mixed market economy A market economy where
there is some government intervention.

Relative price The price of one good compared with
another (e.g. good x is twice the price of good y).
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S

Although market forces can automatically equate
demand and supply, and although the outcomes of the
process may often be desirable, they are by no means
always so. Unbridled market forces can result in severe
problems for individuals, society and the environment.

Markets tend to reflect the collective actions of indi-
vidual consumers and firms. But when consumers
and firms make their decisions, they may fail to take
account of the broader effects of their actions. They
may act selfishly. If people want to buy guns and
knives, market forces will make it profitable for firms
to supply them. If people want to drive fuel-hungry
cars and fit bull-bars to them, then this will create the
market for firms to supply them. Market forces are
not kind and caring. They mechanically reflect human
behaviour.

And it's not just selfish behaviour that markets reflect;
it's ignorance too. You may be blissfully unaware that a
toy that you buy for a child is dangerous, but by doing
so, you are encouraging unscrupulous firms to supply
them. A firm may be unaware that a piece of machinery
it uses is dangerous until an accident happens. In the
meantime, it continues using it because it is profitable
to do so.

If wages are determined purely by demand and supply,
then some people, such as pop stars, footballers and

THINKING LIKE AN ECONOMIST THRESHOLD CONCEPT 6

MARKETS MAY FAIL TO MEET SOCIAL OBJECTIVES

accountants, may be very well paid. Others, such as
cleaners, bar staff and security guards, may be very
poorly paid. If the resulting inequality is seen as unfair,
then market forces alone will not be enough to achieve
a fair society.

Recognising the limitations and failings of markets is a
threshold concept. It helps us to understand how laws
or taxes or subsidies could be framed to counteract
such failings. It helps us to relate the mechanical oper-
ation of demand and supply to a whole range of social
objectives and ask whether the market system is the
best way of meeting such objectives.

But to recognise market failures is only part of the way
to finding a solution. Can the government and various
public agencies, such as the police and health service,
put things right, and if so, how? Or do the limitations of
government mean that the solution is sometimes
worse than the problem? We examine these issues in
many parts of the book. We set the scene in Threshold
Concept 7 below.

? 1. If global warming affects all of us adversely, why
in a purely market economy would individuals
and firms continue with activities that contribute
towards global warming?
2. In what ways do your own consumption patterns
adversely affect other people?

THINKING LIKE AN ECONOMIST THRESHOLD CONCEPT 7

S

Threshold Concept 6 was that markets may fail to meet
social objectives. This is where government economic
policy comes in. Governments have a number of policy
instruments that they can use, either to influence markets
or to replace them altogether. These policy instruments
include taxation, benefits and subsidies, laws and regu-
lations, licences and permits, and direct provision by
government departments or agencies (such as the
ministry of defence or the national health service).

The threshold concept here is not merely that govern-
ments intervene, but that they can correct, or at least
lessen, market failures. Once we have understood
the nature of a market failure, we can then set about
designing a policy to correct it. For example, if we
could identify that the cost to society of producing a
product in a way which created pollution was £20 per
unit more than the benefit that society gained from the
product, then the government could tax the producer
£20 per unit. This could be an argument for imposing
taxes on airline tickets to reflect the adverse effects of
air travel on the atmosphere.

GOVERNMENTS CAN SOMETIMES IMPROVE MARKET OUTCOMES

In Chapters 10, 11 and 12 we consider a number of
these policy instruments and seek to identify the
optimum level of government intervention to meet
social objectives.

Governments themselves, however, are not perfect —
as opposition parties frequently remind us! For an
economic adviser to recommend a particular policy as
the best means of correcting a market failure does not
mean that the government will carry it out efficiently
or, indeed, carry it out at all.

? 1. How may welfare benefits be seen as a means of
correcting market failures? Does the payment of
such benefits create any problems for society?

2. Assume that the government sees litter as a
market failure that requires government action.
Give some examples of policies it could adopt to
reduce litter.
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Section summary

1. The economic systems of different countries
vary according to the extent to which they rely
on the market or the government to allocate
resources.

2. At the one extreme, in acommand economy, the
state makes all the economic decisions. It plans how
many resources to allocate for present consumption
and how many for investment for future output. It
plans the output of each industry, the methods of
production it will use and the amount of resources it
will be allocated. It plans the distribution of output
between consumers.

3. Acommand economy has the advantage of being
able to address directly various national economic
goals, such as rapid growth and the avoidance
of unemployment and inequality. Acommand
economy, however, is likely to be inefficient: a large
bureaucracy will be needed to collect and process
information; prices and the choice of production
methods are likely to be arbitrary; incentives may

be inappropriate; shortages and surpluses may
result.

4. At the other extreme is the free-market economy.

In this economy, decisions are made by the
interaction of demand and supply. Price changes
act as the mechanism whereby demand and supply
are balanced. If there is a shortage, price will rise
until the shortage is eliminated. If there is a surplus,
price will fall until that is eliminated.

5. A free-market economy functions automatically and
if there is plenty of competition between producers
this can help to protect consumers’ interests. In
practice, however, competition may be limited;
there may be great inequality; there may be adverse
social and environmental consequences; there may
be macroeconomic instability.

6. In practice, all economies are some mixture of
the market and government intervention. It is the
degree and form of government intervention that
distinguishes one type of economy from another.

1.3 THE NATURE OF ECONOMIC REASONING

Economics is one of the social sciences. So in what sense is
it a science? Is it like the natural sciences such as physics and
astronomy? What is the significance of the word ‘social’ in
social science? What can economists do, and what is their
role in helping governments devise economic policy?

Economics as a science

The methodology employed by economists has a lot in
common with that employed by natural scientists. Both
attempt to construct theories or models which are then
used to explain and predict. An astronomer, for example,
constructs models of planetary movements to explain why
planets are in the position they are and to predict their
position in the future.

Models in economics

In order to explain and predict, the economist constructs
models of the economy or parts of the economy. These
models show simplified relationships between various
economic phenomena. For example, a model of a market
shows the relationships between demand, supply and
price. Although most models can be described verbally,
they can normally be represented more precisely in gra-
phical or mathematical form.

Building models

Models are constructed by making general hypotheses
about the causes of economic phenomena: for example,
that consumer demand will rise when consumer incomes
rise. These hypotheses will often be based on observations.
This process of making general statements from particular
observations is known as induction.

Using models

Explanation. Models explain by showing how things are
caused: what are the causes of inflation, why do workers in
some industries earn more than others, and so on.

Prediction. Models are sometimes used to make simple
forecasts: for example, inflation will be below 5 per cent
next year. Usually, however, predictions are of the ‘If . ..
then .. ." variety: for example, if demand for good x rises,
its price will rise. This process of drawing conclusions from
models is known as deduction.

When making such deductions it has to be assumed that
nothing else that can influence the outcome has changed
in the meantime. For example, if demand for good x rises,
its price will rise assuming the cost of producing good x has
not fallen. This is known as the ceteris paribus assumption.
Ceteris paribus is Latin for ‘other things being equal’.

Assessing models
Models can be judged according to how successful they are
in explaining and predicting.

Definitions

Economic model A formal presentation of an
economic theory.

Induction Constructing general theories on the
basis of specific observations.

Deduction Using a theory to draw conclusions about
specific circumstances.

Ceteris paribus Latin for ‘other things being equal’.

This assumption has to be made when making
deductions from theories.
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Because of the complexities of the real world,
economic models have to make various simplifying
assumptions. Sometimes, however, economists
are criticised for making unrealistic assumptions,
assumptions that make their models irrelevant.
The following joke illustrates the point . . .

There were three people cast away on a desert island:
a chemist, an engineer and an economist. There was
no food on the island and their plight seemed desperate.

Then they discovered a crate of canned food that
had been washed up on the island. When they realised

If the predictions are wrong, the first thing to do is to
check whether the deductions were correctly made. If they
were, the model must be either adapted or abandoned in
favour of an alternative model with better predictive ability.

Sometimes an economist will want to retain a model
with poor predictive powers if it nevertheless helps to
give some insight into the workings of the economy. For
example, a model of some ideal world in which the goals
of efficiency, growth and equality were all met might be
extremely useful as a yardstick against which to compare
the real world and to understand its shortcomings.

Economics as a social science

Economics concerns human behaviour. One problem here
is that individuals often behave in very different ways.
People have different tastes and different attitudes. This
problem, however, is not as serious as it may seem at first
sight. The reason is that people on average are likely to
behave more predictably. For example, if the price of a
product goes up by S per cent, we might be able to predict,
ceteris paribus, that the quantity demanded will fall by
approximately 10 per cent. This does not mean that every
single individual’s demand will fall by 10 per cent, only
that total demand will. Some people may demand a lot less;
others may demand the same as before.

Even so, there are still things about human behaviour
that are very difficult to predict, even when we are talking
about whole groups of people. How, for example, will firms
react to a rise in interest rates when making their invest-
ment decisions? This will depend on things such as the
state of business confidence: something that is notoriously
difficult to predict.

For these reasons there is plenty of scope for competing
models in economics, each making different assumptions
and leading to different policy conclusions. As a result,
economics can often be highly controversial. As we shall see
later on in the book, different political parties may adhere
to different schools of economic thought. Thus the polit-
ical left may adhere to a model which implies that govern-
ments must intervene if unemployment is to be cured;

that they had no means of opening the cans, they
decided that each of them should use their expertise
to find a solution.

The chemist searched around for various minerals
that could be heated up to produce a compound that
would burn through the lids of the cans.

The engineer hunted around for rocks and then
worked out what height of tree they would have to be
dropped from in order to smash open the cans.

Meanwhile the economist sat down and thought,
‘Assuming we had a can opener . . .’

whereas the political right may adhere to a model which
implies that unemployment will be reduced if the govern-
ment intervenes less and relies more on the free market.

This is not to say that economists always disagree. Despite
the popular belief that ‘if you laid all the economists of the
world end to end they would still not reach a conclusion’,
there is in fact a large measure of agreement between
economists about how to analyse the world and what con-
clusions to draw.

Economics and policy

Economists play a major role in helping governments to
devise economic policy. In order to understand this role, it
is necessary to distinguish between positive and normative
statements.

A positive statement is a statement of fact. It may be right
or wrong, but its accuracy can be tested by appealing to the
facts. ‘Unemployment is rising.” ‘Inflation will be over 6 per
cent by next year.” ‘If the government cuts taxes, imports
will rise.” These are all examples of positive statements.

A normative statement is a statement of value: a state-
ment about what ought or ought not to be, about whether
something is good or bad, desirable or undesirable. ‘It is
right to tax the rich more than the poor.” “The government
ought to reduce inflation.” ‘Old-age pensions ought to be
increased in line with inflation.” These are all examples of
normative statements. They cannot be proved or disproved
by a simple appeal to the facts.

Economists can only contribute to questions of policy in
a positive way. That is, they can analyse the consequences
of following certain policies. They can say which of two
policies is more likely to achieve a given aim, but they
cannot, as economists, say whether the aims of the policy

Definitions

Positive statement A value-free statement which can
be tested by an appeal to the facts.

Normative statement A value judgement.
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Which of the following are positive statements, which
are normative statements and which could be either
depending on the context?

(a) Cutting the higher rates of income tax will

IRl are desirable. For example, economists may argue that a ?
| p8 | policy of increasing government expenditure will reduce !

unemployment and raise inflation, but they cannot decide
whether such a policy is desirable.

Key

a The importance of the positive/normative
ea

distinction. Economics can only contribute to

| 6 | policy issues in a positive way. Economists, as
scientists, cannot make normative judgements.
They can make them only as individual people,
with no more moral right than any other individual.

redistribute incomes from the poor to the rich.

(b) Itis wrong that inflation should be reduced if this
means that there will be higher unemployment.

(c) Itis wrong to state that putting up interest rates will
reduce inflation.

(d) The government should raise interest rates to

prevent the exchange rate falling.

Current government policies should reduce

unemployment.

~

(e

Section summary

1. The methodology used by economists is similar to
that used by natural scientists. Economists construct
models which they use to explain and predict
economic phenomena. These models can be tested
by appealing to facts and seeing how successfully
they have been predicted or explained by the model.
Unsuccessful models can be either abandoned or
amended.

2. Being a social science, economics is concerned
with human actions. Making accurate predictions in
economics is very difficult given that economics has
to deal with a constantly changing environment.

=)

[l | 1. Imagine that a country can produce just
two things: goods and services. Assume
that over a given period it could produce any
of the following combinations:

Units of goods

0 10 20 30 40 50 60 70 80 90
Units of services

80 79 77 74 70 65 58 48 35 19 0

100

(a) Draw the country’s production possibility curve.

(b) Assuming that the country is currently
producing 40 units of goods and 70 units of
services, what is the opportunity cost of
producing another 10 units of goods?

(c) Explain how the figures illustrate the principle
of increasing opportunity cost.

(d) Now assume that technical progress leads to a
10 per cent increase in the output of goods for
any given amount of resources. Draw the new
production possibility curve. How has the
opportunity cost of producing extra units of
services altered?

2. Imagine that you won millions of pounds on the

National Lottery. Would your ‘economic problem’

be solved?

St

Economists can help governments to devise

policy by examining the consequences of
alternative courses of action. In doing this, it is
important to separate positive questions about
what the effects of the policies are, from normative
ones as to what the goals of policy should be.
Economists in their role as economists have no
superior right to make normative judgements. They
do, however, play a major role in assessing whether
a policy meets the political objectives of government
(or opposition).

. Assume that in a household one parent currently

works full time and the other stays at home to

look after the family. How would you set about
identifying and calculating the opportunity costs of
the second parent now taking a full-time job? How
would such calculations be relevant in deciding
whether it is worth taking that job?

. When you made the decision to study economics,

was it a ‘rational’ decision (albeit based on the
limited information you had available at the time)?
What additional information would you like to have
had in order to ensure that your decision was the
right one?

. In what way does specialisation reduce the problem

of scarcity?

. Would redistributing incomes from the rich to the

poor reduce the overall problem of scarcity?

. Assume that oil begins to run out and that extraction

becomes more expensive. Trace through the effects
of this on the market for oil and the market for other
fuels.

. Give two examples of positive statements about

the economy, and two examples of normative ones.
Now give two examples that are seemingly positive,
but which have normative implications or
undertones.
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Additional case studies on the book’s website (www.pearsoned.co.uk/sloman)

1.1 Buddhist economics. A different perspective on economic problems and economic activity.

1.2 Green economics. This examines some of the environmental costs that society faces today. It also looks at the
role of economics in analysing these costs and how the problems can be tackled.

1.3 Global economics. This examines how macroeconomics and microeconomics apply at the global level and
identifies some key issues.

1.4 The interdependence of markets. A case study in the operation of markets, examining the effects on a local
economy of the discovery of a large coal deposit.

1.5 Free-market medicine in Russia. This examines the operating of the fledgling market economy in Russia and
the successes and difficulties in moving from a planned to a market economy.

WEBSITES RELEVANT TO THIS CHAPTER

Numbers and sections refer to websites listed in the Web Appendix
and hotlinked from this book’s website at www.pearsoned.co.uk/sloman.

e For news articles relevant to this chapter, see the Economics News Articles link from the book’s
website.

e For atutorial on finding the best economics websites, see site C8 (The Internet Economist).

e For general economics news sources, see websites in section A of the Web Appendix at the end of the
book, and particularly A1-9, 24, 38, 39. See also A38, 39, 43 and 44 for links to newspapers worldwide;
and A41 and 42 for links to economics news articles from newspapers worldwide.

e Forsources of economic data, see sites in section B and particularly B1-4, 33, 34.
e For general sites for students of economics, see sites in section C and particularly C1-7.

e Forsites giving links to relevant economics websites, organised by topic, see sites 14,7, 8, 11,
12,17, 18.

e For news on the Russian economy (Box 1.5 and Web Case 1.5), see sites A14, 15. See also the
Economic Systems and Theories > Transition Economies section of sites I7 and 11.

e For an excellent site giving details of the lives, works and theories of famous economists from the
history of economic thought (including Adam Smith from Box 1.6), see C18.



Part B: Foundations of
Microeconomics

2 Supply and Demand 33

3 Government Intervention in the Market 69

In the first half of the book, we focus on microeconomics. Despite being ‘small eco-
nomics’ — in other words, the economics of the individual parts of the economy, rather
than the economy as a whole - it is still concerned with many of the big issues of today.
To understand how the economy works at this micro level, we must understand how
markets work. This involves an understanding of demand and supply.

In Chapter 2, we look at how demand and supply interact to determine prices in a
free-market economy. Markets, however, are not always free: governments frequently
intervene in markets. In Chapter 3, we examine government intervention in markets.







Supply and Demand

As we saw in Chapter 1, in a free-market economy prices play a key role in transmitting
information from buyers to sellers and from sellers to buyers. This chapter examines
this ‘price mechanism’ in more detail.

We examine what determines demand; what determines supply; what the relationship
is between demand, supply and price; how the price mechanism transmits information
both from consumers to producers, and from producers to consumers; and how prices
act as incentives - for example, if consumers want more mobile phones, how this
increased demand leads to an increase in their price and hence to an incentive for firms
to increase their production.

Changes in price affect the quantity demanded and supplied. But how much? How
much will the demand for DVDs go up if the price of DVDs comes down? How much will
the supply of new houses go up if the price of houses rises? We develop the concept of
elasticity of demand and supply to examine this responsiveness.

Finally, we look at how quickly markets adjust and also examine how people’s expec-
tations of price changes affect what actually happens to prices. In particular, we look at
speculation — people attempting to gain from anticipated price changes.

CHAPTER MAP

2.1 Demand 34 2.4 Elasticity 48
The relationship between demand and price 34 Price elasticity of demand 48
The demand curve 35 Measuring price elasticity of demand 49
Other determinants of demand 36 Interpreting the figure for elasticity 49
Movements along and shifts in the D curve 37 Determinants of price elasticity of demand 50
2.2 Supply 39 Price elast.lcny of demand and consumer
. expenditure 50
Supply and price 39 S -
Measurement of elasticity: arc elasticity 52
The supply curve 40 L . -
. *Measurement of elasticity: point elasticity 55
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I Price elasticity of supply 57
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Income elasticity of demand 58
2.3 Price and output determination 43 Cross-price elasticity of demand 60
Equilibrium price and ou_tpu'F 43 2.5 The time dimension 61
Movement to a new equilibrium 43 .
*|dentifying demand and supply curves 45 Short-run and long-run adjustment 61
Price expectations and speculation 61

Dealing with uncertainty and risk 64



34 2 SUPPLY AND DEMAND

The markets we will be examining are highly competitive
ones, with many firms competing against each other. In
economics we call this perfect competition. This is where
consumers and producers are too numerous to have any
control over prices: they are price takers.

In the case of consumers, this means that they have to
accept the prices as given for the things that they buy. On
most occasions this is true. For example, when you get to
the supermarket checkout you cannot start haggling with
the checkout operator over the price of a can of beans or a
tub of margarine.

In the case of firms, perfect competition means that
producers are too small and face too much competition
from other firms to be able to raise prices. Take the case of
farmers selling wheat. They have to sell it at the current
market price. If individually they try to sell at a higher price,
no one will buy, since purchasers of wheat (e.g. flour millers)
can get all the wheat they want at the market price.

Of course, many firms do have the power to choose their
prices. This does not mean that they can simply charge
whatever they like. They will still have to take account of
overall consumer demand and their competitors’ prices.
Ford, when setting the price of its Focus cars, will have to
ensure that they remain competitive with Astras, Golfs,

Civics, etc. Nevertheless, most firms have some flexibil-
ity in setting their prices: they have a degree of ‘market
power’.

If this is the case, then why do we study perfect markets,
where firms are price takers? One reason is that they pro-
vide a useful approximation to the real world and give us
many insights into how a market economy works. Many
markets do function very similarly to the markets we shall
be describing.

Another is that perfect markets provide an ideal against
which to compare the real world. It is often argued that
perfect markets benefit the consumer, whereas markets
dominated by big business may operate against the con-
sumer’s interests. Although these are normative issues,
the economist can nevertheless compare the behaviour of
prices, output, profit, etc. in different types of market. For
example, will the consumer end up paying higher prices
in a market dominated by just a few firms than in one
operating under perfect competition? Will British Telecom
respond to an increase in demand for telephone services in
the same way as farmer Giles does to an increase in the
demand for cauliflowers?

Markets with powerful firms are examined in Chapters 6
and 7. For now we concentrate on price takers.

The relationship between demand
and price

The headlines announce, ‘Major crop failures in Brazil and
East Africa: coffee prices soar.” Shortly afterwards you find
that coffee prices have doubled in the shops. What do you do?
Presumably you will cut back on the amount of coffee you
drink. Perhaps you will reduce it from, say, six cups per day
to two. Perhaps you will give up drinking coffee altogether.

This is simply an illustration of the general relationship
between price and consumption: when the price of a good
rises, the quantity demanded will fall. This relationship is
known as the law of demand. There are two reasons for
this law:

Definitions

Perfect competition (preliminary definition) A situation
where the consumers and producers of a product are price
takers. (There are other features of a perfectly competitive
market; these are examined in Chapter 6.)

Price taker A person or firm with no power to be able to
influence the market price.

Law of demand The quantity of a good demanded
per period of time will fall as price rises and will

e People will feel poorer. They will not be able to afford to
buy so much of the good with their money. The pur-
chasing power of their income (their real income) has
fallen. This is called the income effect of a price rise.

* The good will now cost more than alternative or ‘sub-
stitute’ goods, and people will switch to these. This is
called the substitution effect of a price rise.

Similarly, when the price of a good falls, the quantity
demanded will rise. People can afford to buy more (the
income effect), and they will switch away from consuming
alternative goods (the substitution effect).

Therefore, returning to our example of the increase in
the price of coffee, we will not be able to afford to buy as

rise as price falls, other things being equal
(ceteris paribus).

Income effect The effect of a change in price on quantity
demanded arising from the consumer becoming better or
worse off as a result of the price change.

Substitution effect The effect of a change in price on
quantity demanded arising from the consumer switching
to or from alternative (substitute) products.



much as before, and we will probably drink more tea,
cocoa, fruit juices or even water instead.

Ilfley The income and substitution effects are useful
- concepts as they help to explain why people
react to a price rise by buying less. The size of
these effects depends on a range of factors.
These factors determine the shape of the

demand curve.

A word of warning: be careful about the meaning of the
words quantity demanded. They refer to the amount that
consumers are willing and able to purchase at a given price
over a given period (e.g. a week, or a month, or a year).
They do not refer to what people would simply like to con-
sume. You might like to own a luxury yacht, but your
demand for luxury yachts will almost certainly be zero at
the current price.

The demand curve

Consider the hypothetical data in Table 2.1, which shows
how many kilograms of potatoes per month would be pur-
chased at various prices.

Columns (2) and (3) show the demand schedules for
two individuals, Tracey and Darren. Column (4) by con-
trast, shows the total market demand schedule. This is
the total demand by all consumers. To obtain the market
demand schedule for potatoes, we simply add up the quan-
tities demanded at each price by all consumers: i.e. Tracey,
Darren and everyone else who demands potatoes. Notice
that we are talking about demand over a period of time (not

10275 The demand for potatoes (monthly)

Price Tracey’s demand
(pence per kg) (kg)

(1) (2)
A 20 28
B 40 15
C 60 5
D 80 1
E 100 0
Definitions

Quantity demanded The amount of a good that a
consumer is willing and able to buy at a given price over a
given period of time.

Demand schedule for an individual A table showing the
different quantities of a good that a person is willing and
able to buy at various prices over a given period of time.

Market demand schedule A table showing the
different total quantities of a good that consumers
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at a point in time). Thus we would talk about daily demand
or weekly demand or annual demand or whatever.

? Assume that there are 200 consumers in the market.

Of these, 100 have schedules like Tracey’s and 100 have
schedules like Darren’s. What would be the total market
demand schedule for potatoes now?

The demand schedule can be represented graphically as
a demand curve. Figure 2.1 shows the market demand curve
for potatoes corresponding to the schedule in Table 2.1.
This price of potatoes is plotted on the vertical axis. The
quantity demanded is plotted on the horizontal axis.

Point E shows that at a price of 100p per kilo, 100 000
tonnes of potatoes are demanded each month. When the
price falls to 80p we move down the curve to point D. This
shows that the quantity demanded has now risen to 200 000
tonnes per month. Similarly, if the price falls to 60p we
move down the curve again to point C: 350 000 tonnes are
now demanded. The five points on the graph (A-E) corres-
pond to the figures in columns (1) and (4) of Table 2.1.
The graph also enables us to read off the likely quantities
demanded at prices other than those in the table.

? 1. How much would be demanded at a price of 30p per
kilogram?
2. Assuming that demand does not change from
month to month, plot the annual market demand
for potatoes.

A demand curve could also be drawn for an individual
consumer. Like market demand curves, individuals’ demand
curves generally slope downwards from left to right: they
have negative slope. The lower the price of the product, the
more is a person likely to buy.

Darren’s demand Total market demand

(kg) (tonnes: 000s)
(3) (4)
16 700
1 500
9 350
7 200
6 100

are willing and able to buy at various prices over a given
period of time.

Demand curve A graph showing the relationship between
the price of a good and the quantity of the good demanded
over a given time period. Price is measured on the vertical
axis; quantity demanded is measured on the horizontal
axis. A demand curve can be for an individual consumer or
group of consumers, or more usually for the whole market.
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Z [P Market demand curve for potatoes (monthly)
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? 1. Draw Tracey’s and Darren’s demand curves for
potatoes on one diagram. Note that you will use

the same vertical scale as in Figure 2.1, but you
will need a quite different horizontal scale.

2. At what price is their demand the same?

3. What explanations could there be for the
quite different shapes of their two demand
curves? (This question is explored in
section 2.4 below.)

Two points should be noted at this stage:

e In textbooks, demand curves (and other curves too) are
only occasionally used to plot specific data. More fre-
quently they are used to illustrate general theoretical
arguments. In such cases the axes will simply be price
and quantity, with the units unspecified.

e The term ‘curve’ is used even when the graph is a straight
line! In fact when using demand curves to illustrate
arguments we frequently draw them as straight lines —
it’s easier.

Other determinants of demand

Price is not the only factor that determines how much of
a good people will buy. Demand is also affected by the
following.

Tastes. The more desirable people find the good, the more
they will demand. Tastes are affected by advertising, by
fashion, by observing other consumers, by considerations
of health and by the experiences from consuming the good
on previous occasions.

The number and price of substitute goods (i.e. competitive
goods). The higher the price of substitute goods, the
higher will be the demand for this good as people switch
from the substitutes. For example, the demand for coffee
will depend on the price of tea. If tea goes up in price, the
demand for coffee will rise.

The number and price of complementary goods. Com-
plementary goods are those that are consumed together:
cars and petrol, shoes and polish, fish and chips. The
higher the price of complementary goods, the fewer of
them will be bought and hence the less will be the demand
for this good. For example, the demand for batteries will
depend on the price of personal stereos. If the price of per-
sonal stereos goes up, so that fewer are bought, the demand
for batteries will fall.

Income. As people’s incomes rise, their demand for most
goods will rise. Such goods are called normal goods. There
are exceptions to this general rule, however. As people get
richer, they spend less on inferior goods, such as cheap

margarine, and switch to better quality goods.

Distribution of income. If national income were redis-
tributed from the poor to the rich, the demand for luxury
goods would rise. At the same time, as the poor got poorer
they might have to turn to buying inferior goods, whose

demand would thus rise too.

Expectations of future price changes. 1f people think that
prices are going to rise in the future, they are likely to buy

more now before the price does go up.

Definitions

Substitute goods A pair of goods which are considered
by consumers to be alternatives to each other. As the
price of one goes up, the demand for the other rises.

Complementary goods A pair of goods consumed
together. As the price of one goes up, the demand for
both goods will fall.

Normal good A good whose demand rises as people’s
incomes rise.

Inferior good A good whose demand falls as people’s
incomes rise.
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The following is an estimate of the UK’s market
demand curve for lamb. It has been estimated (using
a computer regression package) from actual monthly
data for the years 1966-99.

Q,=217.1-0.112P_+0.125P, - 0.0198Y

THE DEMAND FOR LAMB

A real-world demand function'

where: Q, isthe quantity of lamb sold in grams per

person per week.

P_ isthe price of lamb (in pence per kg, at
1985 prices).

P; isthe price of beef (in pence per kg, at
1985 prices).

Y isannual personal disposable income per
head (£, at 1995 prices).

From this, economists could forecast what would
happen to the demand for lamb if any of three variables
—the price of lamb, the price of beef or income — changed.

? From this equation, calculate what would happen
to the demand for lamb if:

(a) the price of lamb went up by 10p per kg (at 1985
prices).

(b) the price of beef went up by 10p per kg (at 1985
prices).

(c) personal disposable income per head went up
by £100 per annum (at 1995 prices).

There is a serious problem with estimated
demand functions like these: they assume that other
determinants of demand have not changed. In the
case of this demand-for-lamb function, one of the
other determinants did change. This was tastes —
during the 1980s and 1990s there was a shift in
demand away from lamb and other meats, partly for
health reasons, and partly because of an expansion
in the availability of and demand for vegetarian and
low-meat alternatives.

Assuming that this shift in taste took place steadily
over time, a new demand equation was estimated for
the same years:

an individual’s demand and the market demand for
a product?

2. Relate each of these six determinants to the demand
for butter.

? 1. Do all these six determinants of demand affect both
L]

Movements along and shifts in the
demand curve

A demand curve is constructed on the assumption that
‘other things remain equal’ (ceteris paribus). In other words,
it is assumed that none of the determinants of demand,
other than price, changes. The effect of a change in price
is then simply illustrated by a movement along the
demand curve: for example, from point B to point D in
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CASE STUDIES AND APPLICATIONS *BOX 2.1
===

Q,=192.3-0.530F, +0.0738FP; + 0.0261Y - 7.352 TIME

where the TIME term is as follows: 1966 =1, 1967 = 2,
1968=3...1999 =34.

? 1. How does the introduction of the TIME term
affect the relationship between the demand for
butter and (a) the price of beef; (b) personal
disposable income per head?
2. Is lamb a normal good or an inferior good?

Then in the mid-1990s, there was the BSE scare
and a temporary shift in demand to lamb from beef.
The following table shows this shift.

Actual Actual
consumption consumption
of lamb of beef 2 7 Y
1994 54 131 301.6 343.0 8266
1996 66 101 296.2 325.6 8607
2000 55 124 310.7 320.1 9604

Source: http://www.defra.gov.uk/esg/Excel/allfood.xls

Because of these large changes in demand, over
just a few years, it is not possible to include their
determinants in an equation in any meaningful way.
But clearly, BSE did have a major effect and hence
made the estimated equations less reliable for
forecasting the demand for lamb.

? Use the second equation to estimate the demand
for lamb in 1994, 1996 and 2000. In which of these
three years was the estimation closest to the
actual figure? Explain the divergences in the
actual figures from the figures derived from
the equation.

" Thanks to Tony Flegg, my ‘office mate’ at UWE, for these calculations.

Figure 2.1 when the price of potatoes rises from 40p to
80p per kilo.

What happens, then, when one of these other determin-
ants does change? The answer is that we have to construct
a whole new demand curve: the curve shifts. If a change in
one of the other determinants causes demand to rise - say,
income rises — the whole curve will shift to the right. This
shows that at each price more will be demanded than
before. Thus in Figure 2.2 at a price of P, a quantity of Q,
was originally demanded. But now, after the increase in
demand, Q, is demanded. (Note that D, is not necessarily
parallel to D,,.)

If a change in a determinant other than price causes
demand to fall, the whole curve will shift to the left.
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ZL P48 An increase in demand

Price

Quantity

*LOOKING AT THE MATHS

We can represent the relationship between the market
demand for a good and the determinants of demand
in the form of an equation. This is called a demand
function. It can be expressed either in general terms
or with specific values attached to the determinants.

Simple demand functions. Demand equations are often
used to relate quantity demanded to just one
determinant. Thus an equation relating quantity
demanded to price could be in the form:

Qqu=a-bP 1)
For example, the actual equation might be:
Q4=10000 - 200P 2)

From this can be calculated a complete demand
schedule or demand curve, as shown in the table and
diagram. As price (P) changes, the equation tells us how
much the quantity demanded (Q,) changes.

Demand schedule for equation (2)

P Q,

5 9000
10 8000
15 7000
20 6000
25 5000

Demand curve for equation (2)

Q (000s)

To distinguish between shifts in and movements along
demand curves, it is usual to distinguish between a change
in demand and a change in the quantity demanded. A shift in
the demand curve is referred to as a change in demand,
whereas a movement along the demand curve as a result of
a change in price is referred to as a change in the quantity
demanded.

? 1. Assume that in Table 2.1 the total market demand
for potatoes increases by 20 per cent at each price
—due, say, to substantial increases in the prices of
bread and rice. Plot the old and the new demand
curves for potatoes. Is the new curve parallel to the
old one?

2. The price of cashew nuts rises and yet it is observed
that the sales of cashew nuts increase. Does this
mean that the demand curve for cashew nuts is
upward sloping? Explain.

? 1. Complete the demand schedule in the table up to
a price of 50.
2. What is it about equation (2) that makes the
demand curve (a) downward sloping;
(b) a straight line?

This equation is based on a ceteris paribus assumption:
it is assumed that all the other determinants of demand
remain constant. If one of these other determinants
changed, the equation itself would change. There would
be a shift in the curve: a change in demand. If the a term
alone changed, there would be a parallel shift in the curve.
If the b term changed, the slope of the curve would change.

Simple equations can be used to relate demand to other
determinants too. For example, an equation relating
quantity demanded to income would be in the form:

Qq=a+bY 6]

? 1. Referring to equation (3), if the term “a’ has a value
of-50 000 and the term ‘b’ a value of 0.001, construct
a demand schedule with respect to total income
(Y). Do this for incomes between £100 million and
£300 million at £50 million intervals.
2. Now use this schedule to plot a demand curve
with respect to income. Comment on its shape.

More complex demand functions. In a similar way,
we can relate the quantity demanded to two or more

determinants. For example, a demand function could
be of the form:

Qq=a—-bP+cY+dP,—eP, 4)

This equation says that the quantity demanded (Q4) will
fall as the price of the good (P) rises, will rise as the level
of consumer incomes (V) rises, will rise as the price of a
particular substitute (P;) rises and will fall as the price of
a particular complement (P.) rises, by amounts b, ¢, d and
e respectively.

Estimated demand equations. Surveys can be
conducted to show how demand depends on each
one of a number of determinants, while the rest are held



constant. Using statistical techniques called regression
analysis, a demand equation can be estimated.

For example, assume that it was observed that the
demand for butter (measured in 250g units) depended on
its price (P,), the price of margarine (P,,) and total annual
consumer incomes (Y). The estimated weekly demand
equation may then be something like:

Q=2 000 000 — 50 000P, + 20 000P,, + 0.01Y 5)

Thus if the price of butter were 50p, the price of
margarine were 35p and consumer incomes were £200
million, and if P, and P, were measured in pence and Y
was measured in pounds, then the demand for butter
would be 2 200 000 units. This is calculated as follows:
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Qq =2 000000 — (50 000 x 50) + (20 000 x 35)
+(0.01 x 200 000 000)
=2 000 000 — 2 500 000 + 700 000 + 2 000 000
=2 200000

The branch of economics that applies statistical
techniques to economic data is known as econometrics.
Econometrics is beyond the scope of this book. It is
worth noting, however, that econometrics, like other
branches of statistics, cannot produce equations and
graphs that allow totally reliable predictions to be made.
The data on which the equations are based are often
incomplete or unreliable, and the underlying
relationships on which they are based (often ones of
human behaviour) may well change over time.

Section summary

1. When the price of a good rises, the quantity
demanded per period of time will fall. This is known
as the ‘law of demand'. It applies both to individuals’
demand and to the whole market demand.

2. The law of demand is explained by the income and
substitution effects of a price change.

3. The relationship between price and quantity
demanded per period of time can be shown in a
table (or ‘schedule’) or as a graph. On the graph,
price is plotted on the vertical axis and quantity
demanded per period of time on the horizontal axis.
The resulting demand curve is downward sloping
(negatively sloped).

4. Other determinants of demand include tastes, the
number and price of substitute goods, the number

and price of complementary goods, income, the
distribution of income and expectations of future
price changes.

5. If price changes, the effect is shown by a
movement along the demand curve. We call this
effect ‘a change in the quantity demanded’.

6. If any other determinant of demand changes, the
whole curve will shift. We call this effect ‘a change
in demand’. A rightward shift represents an
increase in demand; a leftward shift represents a
decrease in demand.

*7. The relationship between the quantity demanded
and the various determinants of demand (including
price) can be expressed as an equation.

2.2 SUPPLY

Supply and price

Imagine you are a farmer deciding what to do with your land.
Part of your land is in a fertile valley. Part is on a hillside where
the soil is poor. Perhaps, then, you will consider growing
vegetables in the valley and keeping sheep on the hillside.
Your decision will depend to a large extent on the price
that various vegetables will fetch in the market and like-
wise the price you can expect to get from sheep and wool.
As far as the valley is concerned, you will plant the vegeta-
bles that give the best return. If, for example, the price of

Definitions

Change in demand The term used for a shift in the
demand curve. It occurs when a determinant of demand
other than price changes.

Change in the quantity demanded The term used for
a movement along the demand curve to a new point.
It occurs when there is a change in price.

Demand function An equation which shows the
mathematical relationship between the quantity demanded

potatoes is high, you will probably use a lot of the valley for
growing potatoes. If the price gets higher, you may well use
the whole of the valley, being prepared maybe to run the
risk of potato disease. If the price is very high indeed, you
may even consider growing potatoes on the hillside, even
though the yield per acre is much lower there.

In other words, the higher the price of a particular farm
output, the more land will be devoted to it. This illustrates
the general relationship between supply and price: when the
price of a good rises, the quantity supplied will also rise. There
are three reasons for this:

of a good and the values of the various determinants of
demand.

Regression analysis A statistical technique which allows a
functional relationship between two or more variables to be
estimated.

Econometrics The science of applying statistical

techniques to economic data in order to identify and test
economic relationships.
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e As firms supply more, they are likely to find that beyond
a certain level of output, costs rise more and more
rapidly. In the case of the farm just considered, if more
and more potatoes are grown, then land progressively
less suitable to potato cultivation has to be used. This
raises the cost of producing extra potatoes. It is the same
for manufacturers. Beyond a certain level of output,
costs are likely to rise rapidly as workers have to be paid
overtime and as machines approach capacity working. If
higher output involves higher costs of producing each
unit, producers will need to get a higher price if they are
to be persuaded to produce extra output.

e The higher the price of the good, the more profitable it
becomes to produce. Firms will thus be encouraged to
produce more of it by switching from producing less
profitable goods.

e Given time, if the price of a good remains high, new
producers will be encouraged to set up in production.
Total market supply thus rises.

The first two determinants affect supply in the short run.
The third affects supply in the long run. We distinguish
between short-run and long-run supply later in the chapter
on page 57.

The supply curve

The amount that producers would like to supply at various
prices can be shown in a supply schedule. Table 2.2 shows a
monthly supply schedule for potatoes, both for an indi-

vidual farmer (farmer X) and for all farmers together (the
whole market).

The supply schedule can be represented graphically as a
supply curve. A supply curve may be an individual firm’s sup-
ply curve or a market curve (i.e. that of the whole industry).

Figure 2.3 shows the market supply curve of potatoes. As
with demand curves, price is plotted on the vertical axis
and quantity on the horizontal axis. Each of the points a—e
corresponds to a figure in Table 2.2. Thus, for example, a
price rise from 60p per kilogram to 80p per kilogram will
cause a movement along the supply curve from point c to
point d: total market supply will rise from 350 000 tonnes
per month to 530 000 tonnes per month.

9

1. How much would be supplied at a price of 70p
per kilo?

2. Draw a supply curve for farmer X. Are the axes
drawn to the same scale as in Figure 2.3?

Definitions

Supply schedule A table showing the different
quantities of a good that producers are willing and able
to supply at various prices over a given time period. A
supply schedule can be for an individual producer or
group of producers, or for all producers (the market
supply schedule).

Supply curve A graph showing the relationship
between the price of a good and the quantity of the
good supplied over a given period of time.



Not all supply curves will be upward sloping (positively
sloped). Sometimes they will be vertical, or horizontal or
even downward sloping. This will depend largely on the
time period over which firms’ response to price changes is
considered. This question is examined in the section on the
elasticity of supply (see section 2.4 below) and in more
detail in Chapters 5 and 6.

Other determinants of supply

Like demand, supply is not simply determined by price.
The other determinants of supply are as follows.

The costs of production. The higher the costs of produc-
tion, the less profit will be made at any price. As costs rise,
firms will cut back on production, probably switching to
alternative products whose costs have not risen so much.

The main reasons for a change in costs are as follows:

e Change in input prices: costs of production will rise if
wages, raw material prices, rents, interest rates or any
other input prices rise.

e Change in technology: technological advances can
fundamentally alter the costs of production. Consider,
for example, how the microchip revolution has changed
production methods and information handling in virtu-
ally every industry in the world.

e Organisational changes: various cost savings can be
made in many firms by reorganising production.

e Government policy: costs will be lowered by govern-
ment subsidies and raised by various taxes.

The profitability of alternative products (substitutes in

supply).
becomes more profitable to supply than before, producers

If a product which is a substitute in supply

are likely to switch from the first good to this alternative.
Supply of the first good falls. Other goods are likely to
become more profitable if:

e their prices rise;
e their costs of production fall.

For example, if the price of carrots goes up, or the cost of
producing carrots comes down, farmers may decide to cut
down potato production in order to produce more carrots.

The profitability of goods in joint supply. Sometimes when
one good is produced, another good is also produced at the
same time. These are said to be goods in joint supply. An
example is the refining of crude oil to produce petrol. Other
grade fuels will be produced as well, such as diesel and

Definitions

Substitutes in supply These are two goods where an
increased production of one means diverting resources
away from producing the other.

Goods in joint supply These are two goods where the
production of more of one leads to the production of more
of the other.
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paraffin. If more petrol is produced, due to a rise in demand
and hence its price, then the supply of these other fuels
will rise too.

Nature, ‘random shocks’ and other unpredictable events.
In this category we would include the weather and diseases
affecting farm output, wars affecting the supply of imported
raw materials, the breakdown of machinery, industrial dis-
putes, earthquakes, floods and fire, etc.

The aims of producers. A profit-maximising firm will
supply a different quantity from a firm that has a different
aim, such as maximising sales. For most of the time we
shall assume that firms are profit maximisers. In Chapter 8,

however, we consider alternative aims.

Expectations of future price changes. If price is expected
to rise, producers may temporarily reduce the amount they
sell. Instead they are likely to build up their stocks and only
release them on to the market when the price does rise.
At the same time they may install new machines or take
on more labour, so that they can be ready to supply more

when the price has risen.

The number of suppliers. If new firms enter the market,

supply is likely to increase.

? By referring to each of the above determinants of
supply, identify what would cause (a) the supply of
potatoes to fall and (b) the supply of leather to rise.

Movements along and shifts in the
supply curve

The principle here is the same as with demand curves. The
effect of a change in price is illustrated by a movement
along the supply curve: for example, from point d to point
e in Figure 2.3 when price rises from 80p to 100p. Quantity
supplied rises from 530 000 to 700 000 tonnes per month.

If any other determinant of supply changes, the whole
supply curve will shift. A rightward shift illustrates an
increase in supply. A leftward shift illustrates a decrease in
supply. Thus in Figure 2.4, if the original curve is §,, the
curve §; represents an increase in supply (more is supplied
at each price), whereas the curve S, represents a decrease in
supply (less is supplied at each price).

A movement along a supply curve is often referred to as
a change in the quantity supplied, whereas a shift in the
supply curve is simply referred to as a change in supply.

Change in the quantity supplied The term used for
a movement along the supply curve to a new point.
It occurs when there is a change in price.

Change in supply The term used for a shift in the supply
curve. It occurs when a determinant other
than price changes.
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(211148 Shifts in the supply curve
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This question is concerned with the supply of oil for
central heating. In each case consider whether there
is a movement along the supply curve (and in which
direction) or a shift in it (and whether left or right).
(a) New oil fields start up in production. (b) The
demand for central heating rises. (c) The price

of gas falls. (d) Oil companies anticipate an upsurge
in demand for central-heating oil. (e) The demand for
petrol rises. (f) New technology decreases the costs
of oil refining. (g) All oil products become more
expensive.

°~)

Using survey data and regression analysis, equations can
be estimated relating supply to some of its determinants.
Note that not all determinants can be easily quantified
(e.g. nature and the aims of firms), and thus may be left
out of the equation.

The simplest form of supply equation relates supply to
just one determinant. Thus a function relating supply to
price would be of the form:

Q.=c+dP )

Using regression analysis, values can be estimated for c and
d. Thus an actual supply equation might be something like:

Q.= 500+ 1000P )

? 1. If P was originally measured in £s, what would
happen to the value of the d term in equation (2)
if P were now measured in pence?
2. Draw the schedule (table) and graph for equation (2)
for prices from £1 to £10. What is it in the equation
that determines the slope of the supply ‘curve’?

If any determinant other than price changed, a new
equation would result. For example, if costs of production
fall, the equation may now be:

Q.= 1000 + 1500P A3)

More complex supply equations would relate supply to
more than one determinant. For example:

Q. =200+ 80P - 20a, — 15a, + 30 @)

where P is the price of the good, a, and a, are the
profitabilities of two alternative goods that could be
supplied instead, and j is the profitability of a good in
joint supply.

sign, whereas the a, and a, terms have a

Explain why the P and j terms have a positive
negative sign.

Section summary

1. When the price of a good rises, the quantity supplied
per period of time will usually also rise. This applies
both to individual producers’ supply and to the
whole market supply.

2. There are two reasons in the short run why a higher
price encourages producers to supply more: (a) they
are now willing to incur the higher costs per unit
associated with producing more; (b) they will switch
to producing this product and away from now less
profitable ones. In the long run, there is a third reason:
new producers will be attracted into the market.

3. The relationship between price and quantity
supplied per period of time can be shown in a table
(or schedule) or as a graph. As with a demand curve,
price is plotted on the vertical axis and quantity per
period of time on the horizontal axis. The resulting
supply curve is upward sloping (positively sloped).

4. Other determinants of supply include the costs
of production, the profitability of alternative
products, the profitability of goods in joint supply,
random shocks and expectations of future price
changes.

5. If price changes, the effect is shown by a movement
along the supply curve. We call this effect ‘a change
in the quantity supplied’.

6. If any determinant otherthan price changes,
the effect is shown by a shift in the whole supply
curve. We call this effect ‘a change in supply’.

A rightward shift represents an increase in
supply; a leftward shift represents a decrease
in supply.

*7. The relationship between the quantity supplied
and the various determinants of supply can be
expressed in the form of an equation.
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Equilibrium price and output

We can now combine our analysis of demand and supply.
This will show how the actual price of a product and the
actual quantity bought and sold are determined in a free
and competitive market.

Let us return to the example of the market demand and
market supply of potatoes, and use the data from Tables 2.1
and 2.2. These figures are given again in Table 2.3.

What will be the price and output that actually prevail?
If the price started at 20p per kilogram, demand would
exceed supply by 600 000 tonnes (A — a). Consumers would
be unable to obtain all they wanted and would thus be will-
ing to pay a higher price. Producers, unable or unwilling to
supply enough to meet the demand, will be only too happy
to accept a higher price. The effect of the shortage, then,
will be to drive up the price. The same would happen at a
price of 40p per kilogram. There would still be a shortage;
price would still rise. But as the price rises, the quantity
demanded falls and the quantity supplied rises. The short-
age is progressively eliminated.

Explain the process by which the price of houses
B would rise if there were a shortage.

What would happen if the price started at a much higher
level: say, at 100p per kilogram? In this case supply would
exceed demand by 600 000 tonnes (e — E). The effect of this
surplus would be to drive the price down as farmers com-
peted against each other to sell their excess supplies. The
same would happen at a price of 80p per kilogram. There
would still be a surplus; price would still fall.

In fact, only one price is sustainable — the price where
demand equals supply: namely, 60p per kilogram, where
both demand and supply are 350 000 tonnes. When supply
matches demand the market is said to clear. There is no
shortage and no surplus.

As we have already seen in section 1.2, the price where
demand equals supply is called the equilibrium price (see
Threshold Concept 4 on page 22). In Table 2.3, if the price
starts at other than 60p per kilogram, it will tend to move
towards 60p. The equilibrium price is the only price at
which producers’ and consumers’ wishes are mutually
reconciled: where the producers’ plans to supply exactly
match the consumers’ plans to buy.

LGB Equilibrium is the point where conflicting

Idea 8 . —
interests are balanced. Only at this point is the
amount that demanders are willing to purchase
the same as the amount that suppliers are willing
to supply. It is a point that will be automatically
reached in a free market through the operation of

the price mechanism.

Demand and supply curves
The determination of equilibrium price and output can be
shown using demand and supply curves. Equilibrium is
where the two curves intersect.

Figure 2.5 shows the demand and supply curves of potatoes
corresponding to the data in Table 2.3. Equilibrium price is
P. (60p) and equilibrium quantity is Q. (350 000 tonnes).

At any price above 60p, there would be a surplus. Thus at
80p there is a surplus of 330 000 tonnes (d — D). More is
supplied than consumers are willing and able to purchase
at that price. Thus a price of 80p fails to clear the market.
Price will fall to the equilibrium price of 60p. As it does so,
there will be a movement along the demand curve from
point D to point C, and a movement along the supply
curve from point d to point c.

At any price below 60p, there would be a shortage. Thus
at 40p there is a shortage of 300 000 tonnes (B — b). Price
will rise to 60p. This will cause a movement along the
supply curve from point b to point ¢ and along the demand
curve from point B to point C.

Point Cc is the equilibrium: where demand equals

supply.

Movement to a new equilibrium

The equilibrium price will remain unchanged only so

long as the demand and supply curves remain unchanged.

If either of the curves shifts, a new equilibrium will be
formed.

Definition

Market clearing A market clears when supply matches
demand, leaving no shortage or surplus.

2107251 The market demand and supply of potatoes (monthly)

Price of potatoes (pence per kg) Total market demand (tonnes: 000s) Total market supply (tonnes: 000s)

20 700 (A) 100 (a)
40 500 (B) 200 (b)
60 350 (C) 350 (¢)
80 200 (D) 530 (d)
100 100 (E) 700 (e)
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If one of the determinants of demand changes (other than
price), the whole demand curve will shift. This will lead to a
movement along the supply curve to the new intersection
point.

For example, in Figure 2.6, if a rise in consumer incomes
led to the demand curve shifting to D,, there would be a
shortage of h — g at the original price P.,. This would cause
price to rise to the new equilibrium P, . As it did so, there
would be a movement along the supply curve from point g
to point i, and along the new demand curve (D,) from
point h to point i. Equilibrium quantity would rise from
Q1o Q.

The effect of the shift in demand, therefore, has been a
movement along the supply curve from the old equilibrium
to the new: from point g to point i.

What would happen to price and quantity if the demand
curve shifted to the left? Draw a diagram to illustrate
your answer.

2l 11PN Effect of a shift in the demand curve

P

?

Likewise, if one of the determinants of supply changes
(other than price), the whole supply curve will shift. This
will lead to a movement along the demand curve to the new
intersection point.

For example, in Figure 2.7, if costs of production rose,
the supply curve would shift to the left: to S,. There would
be a shortage of g —j at the old price of P, . Price would rise
from P, to P,,. Quantity would fall from Q., to Q.,. In other
words, there would be a movement along the demand
curve from point g to point k, and along the new supply
curve (S,) from point j to point k.

To summarise: a shift in one curve leads to a movement
along the other curve to the new intersection point.

Sometimes a number of determinants might change.
This might lead to a shift in both curves. When this hap-
pens, equilibrium simply moves from the point where the
old curves intersected to the point where the new ones
intersect.

7 (P Effect of a shift in the supply curve

P




? What will happen to the equilibrium price and quantity
of butter in each of the following cases? You should
state whether demand or supply (or both) have
shifted and in which direction. (In each case assume
ceteris paribus.)
(a) A rise in the price of margarine. (b) A rise in the
demand for yoghurt. (c) A rise in the price of bread.
(d) A rise in the demand for bread. (e) An expected
rise in the price of butter in the near future. (f) A tax
on butter production. (g) The invention of a new, but
expensive, process for removing all cholesterol from
butter, plus the passing of a law which states that
all butter producers must use this process.

*LOOKING AT THE MATHS

We saw on pages 38-9 and 42 how demand and supply
curves can be represented by equations. Assume that
the equations for the supply and demand curves in a
particular market are as follows:

Qy,=a-bP 1)

Qs=c+dP )
We can find the market equilibrium price by setting the
two equations equal to each other, since, in
equilibrium, the quantity supplied (Qs) equals the
quantity demanded (Qp). Thus:

c+dP=a-bP
Subtracting ¢ from and adding bP to both sides gives:
dP+bP=a-c
s (d+bP=a-c
a-c

=Teb 3)

We can then solve for equilibrium quantity (Q.) by
substituting equation (3) in either equation (1) or (2)

(since Qp = Qy).

Thus, from equation (1):
a-c
=a-b
Q (d+ b]
_a(d+b)—b(a-c)
d+b
_ad+ab—ba+ bc

d+b
_ad+bc

T d+b

“)

or, from equation (2):
a-c
=c+d|——
Q (d+b)
_cd+cb+da-dc

d+b
_cb+da

" d+b
Thus:

(%)

cb+da
d+b

a:;l: lljc (equation (4)) =

Q.= (equation (5))

A worked example is given in Maths Case 2.1 on the
book’s website.
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*ldentifying the position of demand and
supply curves

Both demand and supply depend on price, and yet their
interaction determines price. For this reason it is difficult to
identify just what is going on when price and quantity
change, and to identify just what the demand and supply
curves look like.

Let us say that we want to identify the demand curve
for good X. We observe that when the price was 20p,
1000 units were purchased. At a later date t